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Chapter 1 Understanding the nature and purpose of business
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Linked to: Issues in understanding forms of business, Chapter 3; Understanding the role and importance of stakeholders, Chapter 10; Decision-making to improve financial performance, Chapter 44.
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Definition


According to business guru Peter Drucker, business is the creation of a customer; in other words, conceiving a product or service that people will pay enough for to generate a profit.
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1.1 An overview of the subject


Business is best looked at from the boss’s point of view. The boss (perhaps the founder or entrepreneur) has an idea or mission. The chief executive of Sainsbury’s may decide that a chain of supermarkets in India represents the next big step forward. This is the mission – Sainsbury’s succeeding in India. This can then form the basis for setting targets or objectives, such as to open the first ten Sainsbury’s supermarkets in India by the end of 2018.
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‘Business is like a bicycle. Either you keep moving or you fall down.’ John David Wright, U.S. businessman
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After the chief executive has set that objective, Sainsbury’s senior managers must then figure out how to make this happen. What will be needed is a strategy that leads to a plan of action, that is, to set out exactly what needs to happen, and by when. That strategy will have to involve the four main sections of the business (known as the business functions). These are marketing, people, finance and operations (see Table 1.1).
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The chief executive will expect the leaders of each of these four functions to come up with their own plan for meeting the overall objective, so there will be a marketing plan, a financial plan and so on. How these things relate to each other can be seen in Figure 1.1.
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Having established their own plans, the four functional leaders will now need to meet to make sure that everything fits together. It is no good if marketing decides on an image of Sainsbury’s Super-value (a kind of Aldi/Lidl idea) while operations chooses to build stores targeting India’s rich elite. Each of the functions must talk to each other and trust each other (see Figure 1.2). This is also the way you are likely to learn this subject. First you study each business function in turn, then you study how the departments work together (and the problems caused if they fail to do so).
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Important though it is to understand the internal workings of a business as shown in Figure 1.2, there are many added complications. Much as a chief executive may wish to set optimistic objectives, a series of outside factors can get in the way of success. Most obviously, competitors may have their own ideas; if Sainsbury’s finds that the massive Walmart is fighting for every suitable property site in India, opening ten stores will become a lot harder. Figure 1.3 gives an overview of the process of running a business, taking into account external as well as internal factors.
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Real business


Sainsbury’s plc is one of the UK’s leading companies, with a 16.5 per cent share of the market for groceries. In 2014 its sales revenue was £26,353 million and profits came to £798 million. Despite these impressive-sounding numbers, the chart below shows how they compare with one of the world’s monster businesses – Walmart (which owns Asda). As you can see, Walmart makes more than twenty times more profit per year than Sainsbury’s. If Sainsbury’s chooses to develop in India, it will probably end up head-to-head with Walmart. That would be tricky.
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1.2 Why businesses exist


Businesses exist because human spirit and a sense of adventure lead people to ‘show what they can do’ and to want to find a way to create family income that is not dependent on a specific outside force: a company or a boss. Hundreds of years ago this could be done by being a farmer, running a shop or having independence as a skilled tradesman. Today, starting a business can be the path to riches or to long hours and meagre rewards – but the lure of ‘being your own boss’ remains powerful.


Figure 1.5 below shows the huge rise in business start-ups in recent years, as shown by the 61.5 per cent growth in company formation between 2008/9 and 2013/14. Part of the spur may have been the recent recession, but it is also testimony to the attractions today of running your own business.
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Source: www.companieshouse.gov.uk
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‘Entrepreneur: a high-rolling risk taker who would rather be a spectacular failure than a dismal success.’ Anon
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Businesses exist because a complex modern world needs more than simply a buyer, a seller and a market for them to meet. A company such as Rolls Royce Aerospace employs over 20,000 people to design, engineer, build, fit and service more than £5,000 million of sales of engines every year, 75 per cent of which are exports from the UK. Managing this requires huge skills of co-ordination and motivation, all within the Rolls Royce mission ‘to provide the finest, most technologically advanced power systems’.


1.3 Mission and objectives


Mission is the aim for the business that is settled upon by the boss (in a small firm) or by the board of directors in a large one. An aim is a general statement of where the business is heading; mission usually takes that statement and makes it sound more evangelical or motivational. An aim might be ‘to be No. 1 in the market for advanced engines’. When dressed up as a mission, this becomes: ‘to provide the finest, most technologically advanced power systems’ (Rolls Royce).


The reason to turn the aim into a motivational statement is to try to excite customers and staff alike – to make them feel part of the project, just as customers once felt that buying innocent smoothies was helping ‘to make the world a little fruitier’. Without doubt, if a business has an exciting aim it is great to express it as a motivating mission. Often, though, dull aims are jazzed up as mission statements that mean little or nothing.


From the aims or mission will come the objectives. These will usually be SMART, that is, Specific, Measurable, Achievable, Realistic and Timebound. For ASOS, an example of a SMART objective might be ‘to become one of the Top 3 online clothing sellers in China by January 1st 2017’. Ideally this objective would seem challenging but achievable – and should sit neatly as a stepping stone towards the mission of becoming the world’s No. 1.
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1.4 Why businesses set objectives


Objectives are set because if you’re the boss of 21,300 people running Rolls Royce, you cannot make every decision. Therefore you have to give more junior staff the authority to get on and make middle-ranking decisions, perhaps without letting you know. If managers are clear on the overall objectives they can feel confident in making decisions that contribute towards achieving those goals.


Other benefits from setting objectives include:





•  It’s motivating to have a clear goal to aim towards – for managers and for staff



•  The objectives are the basis for devising the strategy: the medium–long term plan for meeting the objectives.





The plan can be costed both in manpower and money, to know what resources are going to be needed to achieve the objectives.
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‘Objectives are not fate; they are direction. They are not commands; they are commitments. They do not determine the future; they are means to mobilise the resources and energies of the business for the making of the future.’ Peter Drucker, business guru


[image: ]





1.5 Common business objectives


Business objectives are sometimes called corporate objectives because they set targets for the whole organisation, not just one function. Common business objectives include the following:





1. Profit optimisation in the medium-long term. Profit is vital to the long-term health of every company. Profit provides the capital to fund business growth. It also provides the safety blanket that allows a business to take a risk, knowing that even if it flops, the business will not go under. Optimisation means getting the right balance between two or more possibilities: neither so much profit as to risk exploiting the customer, nor so little as to threaten the firm’s viability. Good companies appreciate that their long-term position will be helped if their customers believe they are getting value for money.



2. Profit maximisation, that is the attempt by a business to make as much profit as possible, probably as fast as possible. Big companies may follow this approach when they suspect a rival is about to try to buy them out. The higher the profit they can show, the higher the price the company will fetch. The same is likely to be the case for companies about to ‘float’ their shares onto the stock market.







    Small firms may also be trying to make as much profit as possible, with no concern for their long-term future and therefore no regard for their reputation. Such businesses may end up on investigative TV programmes such as the BBC’s Watchdog.
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Real business


When Candy Crush owner King Digital Entertainment decided to float the business, it had nine months to maximize its profit before the flotation took place. Therefore when the Spring 2014 float happened, it was possible to claim such high profits that a very high share price was justified. The final price of $22.50 per share valued the company at $7 billion. Within six months of the float the shares had lost 40 per cent of their value as King announced that revenues from Candy Crush were lower than expected. The share buyers were certainly crushed.
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3. Growth. The importance of online business has placed growth as one of the most common business objectives. The logic is often to say ‘there can only be one giant in this market, so we must make sure it’s us’. Therefore decisions are made that focus on rising customer/user numbers instead of rising profits. The assumption is often made that if you get the growth today, the profits will come tomorrow. This is famously true in the console business, in which selling hardware rarely makes a profit – it’s the software and the add-ons that bring profits later.
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‘Growth is a by-product of the pursuit of excellence and is not itself a worthy goal.’ Robert Townsend, Avis chief executive and business author.
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4. Cash flow. This is rarely a consideration for large firms, but is important for small ones, especially business start-ups. If the objective of a new firm is to ensure that cash flow remains positive, it will be vital that everyone in the business is practising the same approach. So even quite junior staff who have been given some decision-making power (had authority delegated to them) should be clear that they must not risk creating negative cash flow.
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5. Survival. This relates strongly to the previous point about cash flow. If times are tough, survival may be the key objective; and in that case survival will rely on keeping cash flow high enough. This will be a priority for new, start-up businesses aware that one third of new businesses fail to survive three years.



6. Social and ethical objectives are easy to find on company websites; whether they have any significant influence over business decisions is less clear. All through the period that banks were mis-selling service after service to customers, their websites boasted about their ethical purity. Ultimately, social and ethical objectives only mean something if the business is willing to sacrifice some profit or some market share. Arguably Tesco did just this in May 2014 when it volunteered to remove sweets from near its checkouts (though perhaps it was following Lidl’s example, as the German firm did the same earlier in the year). The evidence is that it is fair to be sceptical about whether social and ethical objectives are ever much more than image-related add-ons. Financial objectives remain the overwhelming priority for most businesses.
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Five Whys and a How






	Question

	Answer






	Why study business anyway?

	Because although some entrepreneurs have no business education, most have quite a lot – and so have most of the world’s high-earning chief executives.






	Why might a company aim be better expressed as a mission?

	If more vibrant, motivating language makes staff care more and work harder, a mission will have paid for itself.






	Why do objectives need to be SMART?

	Vaguely worded ‘objectives’ will be too woolly to allow anyone to measure whether they have been achieved or not, so they’d have no motivating force.






	Why do new firms struggle with cash flow?

	Because retail customers expect generous credit terms (delaying cash inflows) while suppliers demand cash on delivery.






	Why may social objectives be easy to boast about but hard to carry through?

	Boasts about doing good sit well on a website, but may be ignored by bosses intent on high profits and therefore high bonuses.






	How should bosses decide on their company objectives?

	By talking to their staff they’ll find out what’s wrong at the moment and what’s possible in the future.
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Key terms


Budgets: an agreed ceiling on the monthly spending by any department or manager.


Corporate objectives: targets for the whole business, such as profits to rise by 20 per cent a year for the next three years.


Delegated: having passed authority down the hierarchy so that the local or more expert person makes the decision.


Entrepreneur: a person with the initiative and drive to make a business idea happen.


Mission: a business aim expressed to make it seem especially purposeful and motivating.


Mission statement: a short, powerfully-expressed sentence or two that explains the business aims clearly yet motivationally.


Objectives: targets precise enough to allow praise or blame for the person in charge.


Profit optimisation: that the surplus of revenue over costs should be just right: neither too high in the short term nor too low to finance long-term success.


Strategy: a medium-long term plan for meeting your objectives.
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Evaluation: Understanding the nature and purpose of business


Business is like watching live football. You simply couldn’t make it up. The twists and turns for large firms like Tesco or small local firms are remarkably dramatic. One week all is well and the next week there’s a crisis.


Both for football managers and company executives, it isn’t supposed to be that way. Most football managers want ‘a good performance and a clean sheet’. A dull one-nil performance is superior to a frantic 4-3 skirmish. And company bosses yearn for predictability and stability. That’s why they set clear objectives and hold managers to account for meeting them. Happily, no matter how much they seek stability, managers are constantly being upset by unexpected results and performances. Studying business should never be boring.


[image: ]







[image: ]


‘Entrepreneurs are needed not only to start new business ventures … but also to put life into existing companies, especially large ones.’ Anders Wall, Swedish chief executive
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Workbook


A. Revision questions


(25 marks; 25 minutes)





1. Explain two differences between mission and objectives.


(4)



2. State whether each of the following statements is a mission or an objective.







    a) To become the world’s favourite car rental business.


    b) To bring healthy eating to Wigan.


    c) To achieve a 40 per cent market share by the end of 2018.


(3)








3. Outline two possible risks if a business such as Sainsbury’s sets itself the objective of rapid growth.


(4)



4. Outline why ‘survival’ might be the wisest objective for a brand new start-up business.


(3)



5. Why might a business suffering bad publicity emphasise a new set of ethical objectives?


(3)



6. Read John David Wright’s quotation (see page 1). Explain its meaning in your own words.


(4)



7. Outline one strength and one weakness of a business such as Aston Villa FC setting itself objectives for the coming season.


(4)





B. Revision exercises


DATA RESPONSE


Snapchat


In late Autumn 2013 two 23-year-old Californians were each offered $750 million in cash by Facebook’s Mark Zuckerberg. And they turned it down. Evan Spiegel and Bobby Murphy launched Snapchat in July 2011. Now Facebook wanted to buy the business for $3,000 million. The founders had each retained a 25 per cent stake in the business, hence the $750 m figure.


Snapchat began late one night at Stanford University when Reggie Brown stepped into fellow-student Spiegel’s room groaning about a photo he regretted sending. He then said something like ‘I wish there was an app to send disappearing photos’. Spiegel saw the potential, calling Brown’s remark ‘a million dollar idea’. This conversation is now part of a billion dollar lawsuit, as Brown claims his share of the Snapchat goldmine.


Spiegel developed the app as part of a University project. When he presented it, the feedback was, roughly, who wants a disappearing photo? And when it debuted (under the brand name Picaboo) in the Apple App Store on 13 July 2011, no one noticed. Luckily, a bust-up over the share split in August 2011 made Spiegel and Murphy cut Brown out – including the Picaboo name that Brown had put forward. The new name was Snapchat. User uptake remained painfully slow until high school students in California started using it at school – as Facebook had been banned. Then the take-off was spectacular, as shown in Table 1.3
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Having turned $3 billion down in 2013, it was perhaps a relief to the founders that Chinese web giant Alibaba talked in August 2014 about an investment that would value Snapchat at $10 billion. This would be an amazing valuation as Snapchat had, at that time, never generated a dollar of revenue. But Snapchat’s huge appeal came from demography. Facebook users were now an average of nearly 40 years old, whereas Snapchat’s core market was 12–24 year olds, with an average age below 18. Facebook might be the present but Snapchat looked like the future.


The other huge issue for Spiegel and Murphy was Brown’s huge lawsuit, demanding his fair share of the company. A similar thing happened with Facebook, making it easy to forecast that lawyers will get rich arguing this case – but it will probably be settled out of court for a very large sum.


Questions (25 marks; 30 minutes)





1. Why do you think that the Snapchat business exists? Explain your answer.


(4)



2. With no income, Snapchat’s cash flow was dependent entirely on capital investment from outside sources. Analyse the effect this may have on Spiegel and Murphy’s ability to run the business.


(9)



3. From your own knowledge of Snapchat, do you think the business could ever generate advertising or other revenue to make it worth billions of dollars? Justify your answer.


(12)





C. Extend your understanding





1. You have been appointed Chief Executive of Marks & Spencer. Your mission is ‘to restore M&S as the clothing store of choice for women over the age of 30’. Discuss how you will set about this task.


(20)



2. When faced with crisis in early 2015, a commentator suggested that Morrisons ‘might not survive the coming three years’. To what extent do you agree with this statement?


(20)
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Chapter 2 Different business forms
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Linked to: Understanding the nature and purpose of business, Chapter 1; Issues in understanding forms of business, Chapter 3; Understanding the role and importance of stakeholders, Chapter 10.
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Definition


The legal structure of a business determines the financial impact on the business owners if things go wrong. It also affects the ease with which the business can finance growth.
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2.1 Businesses with unlimited liability


Unlimited liability means that the finances of the business are treated as inseparable from the finances of the business owner(s). So if the business loses £1 million, the people owed money (the creditors) can get the courts to force the individual owners to pay up. If that means selling their houses, cars, and so on, so be it. If the owner(s) cannot pay, they can be made personally bankrupt. Two types of business organisation have unlimited liability: sole traders and partnerships.


Sole traders


A sole trader is an individual who owns and operates his or her own business. Although there may be one or two employees, this person makes the final decisions about the running of the business. A sole trader is the only one who benefits financially from success, but must face the burden of any failure. In the eyes of the law the individual and the business are the same. This means that the owner has unlimited liability for any debts that result from running the firm. If a sole trader cannot pay his or her bills, the courts can allow personal assets to be seized by creditors in order to meet outstanding debts. For example, the family home or car may be sold. If insufficient funds can be raised in this way the person will be declared bankrupt.


Despite the financial dangers involved, the sole trader is the most common form of legal structure adopted by UK businesses. In some areas of the economy this kind of business dominates, particularly where little finance is required to set up and run the business and customers demand a personal service. Examples include trades such as builders and plumbers, and many independent shopkeepers.


There are no formal rules to follow when establishing as a sole trader, or administrative costs to pay. Complete confidentiality can be maintained because accounts are not published. As a result many business start-ups adopt this structure.


The main disadvantages facing a sole trader are the limited sources of finance available, long hours of work involved and the difficulty of running the business during periods of ill health (plus unlimited liability).


Partnerships


Partnerships exist when two or more people start a business without forming a company. Like a sole trader, the individuals have unlimited liability for any debts run up by the business. Because people are working together but are unlimitedly liable for any debts, it is vital that the partners trust each other. As a result, this legal structure is often found in the professions, such as medicine and law.


The main difference between a sole trader and a partnership is the number of owners.


2.2 Businesses with limited liability


Limited liability means that the legal duty to pay debts run up by a business stays with the business itself, not its owner/shareholders. If a company has £1 million of debts that it lacks the cash to repay, the courts can force the business to sell all its assets (cars, computers, etc.). If there is still not enough money, the company is closed down, but the owner/shareholders have no personal liability for the remaining debts.


To gain the benefits of limited liability, the business must go through a legal process to become a company. The process of incorporation creates a separate legal identity for the organisation. In the eyes of the law the owners of the business and the company itself are now two different things. The business can take legal action against others and have legal action taken against it. In order to gain separate legal status a company must be registered with the Registrar of Companies.


The key advantages and disadvantages that result from forming a limited company are set out below.


Advantages of forming a limited company:





•  Shareholders experience the benefits of limited liability, including the confidence to expand.



•  A limited company is able to gain access to a wider range of borrowing opportunities than a sole trader or partnership.





Disadvantages of forming a limited company:





•  Limited companies must make financial information available publicly at Companies House. Small firms are not required to make full disclosure of their company accounts, but they have to reveal more than would be the case for a sole trader or partnership.



•  Limited companies have to follow more, and more expensive, rules than unlimited liability businesses, for example producing audited accounts and holding an annual general meeting of shareholders. These things add several thousands of pounds to annual overhead costs.
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Real business


One Water


In 2003, Duncan Goose quit his job and founded One Water. He wanted to finance water projects in Africa from profits made selling bottled water in Britain. The particular water project was ‘Playpumps’: children’s roundabouts plumbed into freshly dug water wells. As the children play, each rotation of the roundabout brings up a litre of fresh, clean water.


Duncan thought of forming a charity, but felt that the regulations governing charities might force them to be inefficient. So, for the sum of £125 he founded a limited company, Global Ethics Ltd. This enabled him to set the rules, for instance that the shareholders receive no dividends and the directors receive no fees. But, of course, it ensured that he and other volunteers who put time into One Water are protected, should something go wrong and big debts build up. Today One Water is a major business trading internationally. It has raised more than £10 million, funding more than 900 Playpumps and providing clean water to more than 2 million people, permanently.
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2.3 Private limited companies


A small business can be started up as a sole trader, a partnership or as a private limited company. For a private limited company, the start-up capital will often be £100, which can be wholly owned by the entrepreneur, or other people can be brought in as investors. The shares of a private limited company cannot be bought and sold without the agreement of the other directors. This means the company cannot be listed on the stock market. As a result it is possible to maintain close control over the way the business is run. This form of business is often run by a family or small group of friends. It may be very profit focused or, like Global Ethics Ltd, have wholly different objectives than maximising profit.


A legal requirement for private companies is that they must state ‘Ltd’ after the company name. This warns those dealing with the business that the firm is relatively small and has limited liability. Remember, limited liability protects shareholders from business debts, so there is a risk that ‘cowboy’ businesspeople might start a company, run it into the ground and then walk away from its debts. Therefore the cheques of a limited company are not as secure as ones from an unlimited liability business. This is why many petrol stations have notices saying ‘No company cheques allowed’.


Some of the factors that may determine when a business should start up as a sole trader and when as a private limited company are outlined in Table 2.1.
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2.4 Public limited companies


When a private limited company expands to the point of having share capital of more than £50,000, it can convert to a public limited company. Then it can be floated on the stock market, which allows any member of the general public to buy shares. This increases the company’s access to share capital, which enables it to expand considerably. The term ‘plc’ will appear after the company name, for example Marks & Spencer plc or Tesco plc.


The principal differences between private and public limited companies are:





•  A public company can raise capital from the general public, while a private limited company is prohibited from doing so.



•  The minimum capital requirement of a public company is £50,000. There is no minimum for a private limited company.



•  Public companies must publish far more detailed accounts than private limited companies.





Most large businesses are plcs. Yet the process of converting from a private to a public company can be difficult. Usually, successful small firms grow steadily, perhaps at a rate of 10 or 15 per cent a year. Even that pace of growth causes problems, but good managers can cope. The problem of floating onto the stock market is that it provides a sudden, huge injection of cash. This sounds great, but it forces the firm to try to grow more quickly (otherwise the new shareholders will say: what are you doing with our cash?). Note that the media increasingly uses the U.S. term IPO (Initial Public Offering) instead of the British term ‘flotation’.
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‘I couldn’t be more thrilled to have control over my own destiny in a way that is not possible as a public company’. Michael Dell, after paying $25 billion to take Dell Computers private in 2013.
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Real business


Poundland


From its origins as a Lincolnshire market stall in the 1990s, on 12 March 2014 Poundland was floated onto the London stock market at a valuation of £750 million. The sellers of the shares included a private equity investor and Poundland’s senior management, which reduced its combined holding from 24 per cent to 10 per cent of the shares. One person who gained no benefit was Poundland’s founder, Steve Smith, who sold his entire stake in the business for £50 million in 2004. If he felt aggrieved at missing out on the flotation riches, at least he could do so from the comfort of his 13-bedroom mansion.
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2.5 Other forms of business organisation


Co-operatives


These can be worker owned, such as JohnLewis/Waitrose, or customer owned, such as the retail Co-op. Co-operatives have the potential to offer a more united cause for the workforce than the profit of shareholders. Workers at John Lewis can enjoy annual bonuses of 20 per cent of their salary, as their share of the company’s profits. The Co-op has been less successful, though its focus on ethical trading has made it more relevant to today’s shoppers.


Not-for-profit organisations


Mutual businesses


Mutual businesses, including many building societies and mutual life assurance businesses, have no shareholders and no owners. They exist solely for the best interests of members: its customers. In the 1980s and 1990s traditional mutual societies such as Abbey National and the Halifax were turned into private companies. Not one of these businesses survived the 2007–09 credit crunch without being bailed out or taken over. Nationwide now says it is ‘proud to be different’, as it is still a true building society in that it has no shareholders pressuring it for profits.
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‘Too many companies, especially large ones, are driven more and more narrowly by the need to ensure that investors get good returns and to justify executives’ high salaries. Too often, this means they view employees as costs.’ Hilary Clinton, US politician
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Charities


Many important organisations have charitable status. These include pressure groups such as Greenpeace and Friends of the Earth. They also include conventional charities such as Oxfam and Save The Children. Charitable status ensures that those who fund the charity are not liable for any debts. It also provides significant tax benefits.


2.6 Private and public sector organisations


All the organisations mentioned above operate in the private sector. This means that they are not owned by the state; neither by national nor local government. Public sector organisations are different. They are owned by the state and therefore may have different obligations and also pressures.


Types of public sector organisation:


Public corporations


These are government-owned organisations that trade mainly with the private sector. There used to be many of these, from British Rail to British Telecom. Now most have been sold to the private sector, often forming a private monopoly such as Thames Water or Virgin West Coast Rail. Among the few remaining public corporations is the Crown Estate, which earns rental income for the government from publicly owned forests, seabeds, farming land and buildings – and also Manchester Airport, which is owned by ten councils around Manchester.


Local authority services


Until recently all local authorities ran services such as care homes for the elderly, even though there was alternative provision from the private sector. The rationale was that the public sector provision of health care was priced below the private-sector level or might even be free. In keeping with other local authorities, hit by spending cuts, Durham County Council closed its last five care homes in April 2014.
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Five Whys and a How






	Question

	Answer






	Why might an entrepreneur choose to be a sole trader instead of forming a private limited company?

	To minimise administration costs – and presumably on the assumption that there will be very few risks involved in the business






	Why would anyone sell goods on credit to a limited liability business?

	Because they trust that the proprietors will not close the business down and shelter behind limited personal liability (some have regretted that trust)






	Why might a growing business turn itself into a plc and then float its shares on the stock market?

	To raise extra capital for expansion – and/or to allow the early-stage investors to sell part of their own holding (perhaps making them millionaires)






	Why might ‘the divorce of ownership and control’ matter to an investor?

	It may mean that senior management are more interested in money/power for themselves than building up the business in the long term






	Why may a ‘mutual’ prove no more ethically sound than a profit-seeking company?

	Ethics are partly a consequence of personal morality; it may be wrong to assume that those working for mutuals are any different from those working for companies






	How do you form a company?

	To achieve incorporation you need to complete the memorandum and the articles of association and send them, plus fee, to the Registrar of Companies
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Private-public partnerships


Recent governments have promoted the idea that public services will be more efficient if run in partnership with the private sector. This led to the Private Finance Initiative, in which private sector finance was used to initiate public sector investment in hospitals, schools or transport. Although these schemes were supposed to provide better value to taxpayers, House of Commons committee reports show that the record of these schemes is patchy.
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Key terms


Bankrupt: when an individual is unable to meet personal liabilities, some or all of which can be as a consequence of business activities.


Creditors: those owed money by a business, for example, suppliers and bankers.


Incorporation: establishing a business as a separate legal entity from its owners, and therefore giving the owners limited liability.


Limited liability: owners are not liable for the debts of the business; they can lose no more than the sum they invested.


Monopoly: where the sales of one business have a dominant share of its marketplace.


Registrar of Companies: the government department which can allow firms to become incorporated. It is located at Companies House, where Articles of Association, Memorandums of Association and the annual accounts of limited companies are available for public scrutiny.


Sole trader: a one-person business with unlimited liability.


Unlimited liability: owners are liable for any debts incurred by the business, even if it requires them to sell all their assets and possessions and become personally bankrupt.
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Evaluation: Different business forms


Business organisation is a dry, technical subject. It does contain some important business themes, however, two of which are particularly valuable sources of evaluative comment.





1. The existence of limited liability has had huge effects on business. Some have been unarguably beneficial. How could firms become really big if the owners felt threatened by equally big debts? Limited liability helps firms to take reasonable business risks. It also, however, gives scope for dubious business practices. For example, it is possible to start a firm, live a great lifestyle, go into liquidation leaving the customers/creditors out of pocket and then start again. All too often this is the story told by programmes such as the BBC’s Watchdog. Companies Acts lay down legislation that tries to make this harder to do, but it still happens. Such unethical behaviour is why government intervention to protect the consumer can always be justified.



2. Short-termism is a curse for effective business decision-making. There is no proof that a stock exchange listing leads to short-termism, only the suspicion that in many cases it does. Massive companies such as Unilever, Nestle and Shell may be above the pressures for short-term performance. In many other cases, though, it seems that British company directors focus too much on the short-term share price. Could this be because their huge bonuses depend on how high the share price is? Worries about shareholder pressures or takeover bids may distract managers from building a long-term business in the way that companies such as BMW and Toyota have done.
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‘When the operations of capitalism come to resemble the casino, ill fortune will be the lot of many.’ John Maynard Keynes, economist
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Workbook


A. Revision questions


(25 marks; 25 minutes)





1. Explain two differences between a sole trader and a partnership.


(4)



2. In your own words, try to explain the importance of establishing a separate legal entity to separate the business from the individual owner.


(4)



3. You can start a business today. All you have to do is tell HM Revenue & Customs (the taxman). Outline two risks of starting in this way.


(4)



4. Briefly explain whether each of the following businesses should start as a sole trader, a partnership or a private limited company.







    a) A clothes shop started by Claire Wells with £40,000 of her own money plus £10,000 from the bank. It is located close to her home in Wrexham.


(3)


    b) A builders started by Jim Barton and Lee Clark, who plan to become ‘No. 1’ for loft extensions in Sheffield. They have each invested £15,000 and are borrowing £30,000 from the bank.


(3)








5. Explain the risks to a company of moving from a private to a public limited company by floating its shares on the stock market.


(5)



6. In what way may the type of business organisation affect the image of the business?


(2)





B. Revision exercises


DATA RESPONSE 1


UK business categories


In 2013 the Federation of Small Businesses estimated that there were 5 million businesses in the UK. Use this information plus the pie chart to answer the questions below.
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Questions (20 marks; 20 minutes)





1. a) Calculate the number of sole traders in the UK; then calculate the number of limited companies.


(3)


    b) Explain two possible reasons why there are so many more sole traders than companies.


(6)








2. What proportion of British businesses operate with unlimited liability?


(1)



3. In September 2014 the Federation of Small Businesses announced record confidence levels among its members. A survey of 2,100 small business owners showed that 61 per cent expected growth in the next twelve months. The biggest improvement was in the North East, with September 2014 showing a confidence score of +44 compared with −7 per cent the year before.







    a) Explain two possible reasons why business confidence is important for small firms.


(6)


    b) Explain one possible reason why the North East enjoyed such a boost to business confidence.


(4)





DATA RESPONSE 2


Starting a new business


Forming a limited company can be time-consuming compared to a sole trader which can be started straight away. According to the World Bank, the number of actions required to get started varies from 1 in New Zealand to 13 in Brazil and China. As a result of the different processes, the number of days it takes to start up varies from 1 day in New Zealand (the world’s quickest) to 144 days in Venezuela (the world’s slowest).


Figure 2.3 provides data selected from the World Bank’s 2013–14 Global Competitiveness Report.
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Questions (20 marks; 25 minutes)





1. Briefly explain the reasons for it taking longer to set up as a limited company than as a sole trader.


(5)



2. To what extent should an entrepreneur be influenced by the length of time to set up when deciding upon the most suitable business structure?


(15)





C. Extend your understanding





1. Non-profit organisations such as charities and mutuals run businesses including shops and banks. To what extent would you expect better value for money from a non-profit business than from a profit-seeking business?


(20)



2. Sunil Mittal, Indian software entrepreneur, once said: ‘We want to manage and grow our companies ourselves. If we give up 51 per cent we might as well get out of the business.’ To what extent would you agree with him?


(20)
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Chapter 3 Issues in understanding forms of business
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Linked to: Different business forms, Chapter 2; Sources of finance, Chapter 43; Decision-making to improve financial performance, Chapter 44.
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Definition


‘Forms of business’ includes the factors that affect and are affected by business owners, especially shareholders.
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3.1 The role of shareholders


Shareholders literally own a share of the business, proportionate to their shareholding. So an individual who has bought 50,000 shares in a business that has issued 5 million shares owns a 1 per cent stake in the company. Therefore he or she has 1 per cent of the voting rights when it comes to decisions to be made at the annual general meeting (AGM). For the company, the role of the shareholder is to provide the capital to get the business going and to keep it growing; for the shareholder, the point of share ownership is the degree of influence it gives, plus the rewards it provides (see Section 3.2).


In theory, shareholders should be proactive, raising important issues with the board of directors. In fact, many have little interest in doing so; they bought shares in the hope of a price rise or rising dividends, and may be more likely to sell shares than to spend time probing what’s really happening to the company. Marks & Spencer, for example, has 188,000 shareholders, half of whom have fewer than 500 shares (with a value averaging about £1,000). Even the biggest single private investor in the company has only 3 per cent of the shares, and therefore no real say in key business decisions. Perhaps this is why the directors of Marks & Spencer have been allowed to get away with huge salaries but dismal performance. Profits in 2014 were half the level achieved in 1997/98.


Each year a public limited company must invite all its shareholders to an annual general meeting. There the shareholders have the right to question the board of directors on any aspect of the company’s performance or policies. This is often a low-key affair attended by a handful of shareholders, but can sometimes burst into life when there is a controversial issue at stake. In its 2014 AGM, Barclays directors were criticised for their own pay and for the size of the bonuses paid to staff. One shareholder claimed they were ‘paying for Manchester United but getting Colchester United’, while another said the bank was ‘a prisoner to its senior staff’. Despite these criticisms only 24 per cent of shareholders voted against the pay proposals, so the directors got their way.
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3.2 Shareholder rewards


There are two main financial rewards for company shareholders:





•  Annual dividend payments



•  A rise in the value of the shares





Annual dividend payments are decided upon by the company directors when they know the final figure for the profit for the year. Most companies have a clearly expressed dividend policy, such as Ted Baker plc’s, which is to pay out around half the year’s profit to its shareholders. The dividends received are in proportion to shareholdings, that is, they are allocated as a dividend per share figure multiplied by the number of shares each individual owns.
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Real business


Example: the individual with a 3 per cent holding in Marks & Spencer is Bill Adderley. He owned 48.5 million M&S shares in 2014, so his annual dividend payment was:


M&S dividend per share 2014: 17p × 48.5 million shares = £8,245,000


For the average holder of 500 shares, it’s 500 × £0.17 = £85 dividend for the year


For most, then, dividends are useful but not hugely significant. What a shareholder wants most of all is a rising share price. Figure 3.2 shows that an investor who had bought £1,000 of Marks & Spencer shares in 1998 would have £1,000 × ([image: ]) = £977.50 by August 2014, a loss of £22.50 over a 16 year period! Some investment. By contrast the investor in Ted Baker would have turned £1,000 into £1,000 × [image: ] = £18,325. Sweet.
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Source: http://uk.finance.yahoo.com
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‘A lot of people love Oreos. So their manufacturer is making money. That means more dividends to shareholders.’ Maria Bartiromo, US TV journalist
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3.3 What influences the price of shares?


What’s a share in Apple Inc. worth? In August 2014 the price of one share in Apple rose above $100 in response to investor excitement at the anticipated launch of the iPhone 6 and the iWatch. Does that mean the shares were ‘worth’ $100? The fact is that nobody knows what a share is going to be worth in future. Nevertheless there are some clear influences on the price of shares.


The value investors place on a share depends on the profit after tax the company makes (known in the UK as its ‘earnings’) multiplied by the value investors place on those earnings. If investors have a great deal of confidence about the future of the business they’ll pay a high multiple (70 times, in the case of Facebook in September 2014). At the same time investors valued Marks & Spencer at just 13 times earnings, i.e. much more lowly.
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‘With Wrigley chewing gum, it’s the lack of change that appeals to me. I don’t think it is going to be hurt by the internet. That’s the kind of business I like.’ Warren Buffett, the world’s greatest stock market investor.
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3.4 The significance of share price changes


In the short term there is no actual impact on a business of a change in its share price. The share capital of the business was invested permanently by the shareholders. So if they lose confidence in the business and want to sell their shares, they have to find another buyer – they cannot demand their money back from the company. Just as, when you buy a new car, you’ll then need to find a second-hand purchaser if you want to sell it – the same is true of shares. The media love to write scary headlines about ‘share price collapse’ as if that means ‘company collapse’ – but that’s not true.
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Real business


In October 2008 shares in Taylor Wimpey plc hit 10p – an amazing fall from 490p eighteen months before. The collapse in UK house prices put the newly-merged Taylor and Wimpey in a difficult financial position. Amidst all the concern and gloom about whether the company could survive, 10p proved an amazing buying opportunity. By August 2014 the shares hit 117p, giving a glorious 1070 per cent profit. Despite the collapse in Taylor Wimpey’s share price, no one panicked, and because the share price has no direct impact on the business, recovery was possible.
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In the longer term, however, the share price can matter. If the share price is high, it makes it relatively cheap and easy to obtain more share capital. A business can carry out a rights issue which gives existing shareholders the right to buy more shares at a discount to the market value. If the share price is low and remains low, the company is unlikely to be able to raise any extra share capital, which in turn makes it harder to raise loan capital.


3.5 Issues with different forms of business


1. Unlimited and limited liability


By definition, every ‘company’ has limited liability. The process of incorporation means that the company is treated as a separate legal entity from those who own the business. So, if the business sells a customer a faulty item, the customer can sue the business but not the owner(s). This becomes important if the business goes into liquidation. Who can then be sued? No one. So consumers have to be wary when dealing with small, limited liability businesses.


The same warning applies to businesses themselves when selling on credit to other businesses. Since 2002 it has been possible for UK firms heading for insolvency to arrange for a ‘pre-pack administration’. This allows the business’s owners to write off their debts to creditors (including suppliers), yet remain in control of the business. This is how the computer games retailer Game remains in business today even though it, effectively, was bankrupt in 2012. The uncomfortable thing about pre-pack administration is that suppliers lose everything, yet the bosses who presided over a collapsing business remain in charge! After widespread complaints, the UK government spent 18 months consulting over how to make pre-packs fairer to all parties, but in 2014 it was decided to keep the rules as they are. Today, about a quarter of all businesses falling into administration use the pre-pack device. The ethics of this process remain very murky.


2. Ordinary share capital


By definition every company has ordinary share capital that has been issued to at least one shareholder. The company issues the shares in exchange for the investor’s capital. The shareholders expect an annual dividend as a reward for their investment, but if the business has a lousy trading year it can choose to drop the dividend. This means that share capital is ideal for a business that naturally has ups and downs, such as one that relies on the British weather (seaside hotels; ice cream parlours, etc.) or one that relies on fashion or new technology.
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3. Market capitalisation


This is the value the stock market places on the whole business by multiplying the share price by the number of shares issued. Ted Baker has 44 million shares issued and the market values each share at £18, so that’s a value of £792 million. That’s Ted Baker plc’s market capitalisation.


The importance of the figure is that it represents the starting point for any company considering making a takeover bid. After all, if the stock market value is £792 million, any bid has to be above that level in order to persuade existing shareholders to sell. Realistically, any potential buyer of Ted Baker would know that they’d need to find at least £1,000 million to make a successful takeover bid.


4. Dividends


These are the annual reward to shareholders for their investment in the business. They represent an income to shareholders. Given that most companies grow over time, the dividends they declare tend to grow as well. So whereas interest rates on bank deposits go up and down over time (with no upward trend), dividends tend to rise over time, giving a rising income as the years go by. Rising income is especially attractive for retired people, who worry about the real value of their pensions. Figure 3.3 shows that annual dividends can be very valuable for investors who hold on to their shares for a number of years.
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An important issue with share dividends, though, is that there is a trade-off. The higher the dividend payout agreed by directors, the lower the amount of retained capital available for reinvestment in the business. This can be measured by looking at the dividend cover. If dividend cover is 1, it would mean the business has paid out all its profits to shareholders, leaving zero for reinvestment. At a figure of 2, half is paid out and half is retained. If you see a firm with a low dividend cover you can wonder:





a) Why are they paying out such high dividends when they’re not making very much profit?



b) Will they really be able to go on paying such high dividends?



c) Are the directors propping up the share price in a short-termist way? That is, paying high dividends now at the cost of the future growth prospects (or even survival prospects) of the company.
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‘Investors systematically overvalue short-term payoffs and pass up investment opportunities that could leave them much better off in the longer term.’ Sheila Bair, Chair, Federal Deposit Insurance Corporation
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3.6 Effects of ownership on mission, objectives, decisions and performance


Most large companies are plcs and therefore have a large number of outside shareholders who may care little about the business. They simply want rising dividends and a rising share price. Companies such as Marks & Spencer have to report their latest profits every six months – so this becomes a fixation for the chief executive. Short-term thinking is the curse of a company such as Marks & Spencer, which needs plenty of time to come up with a successful new trading strategy.


This can lead to a fundamental problem: whatever the mission statement says, staff will soon learn the real priorities of senior management. If the chief executive shows clear signs of stress in the lead-up to the 6-monthly profit statement, staff will know what matters most. Ultimately, the staff that rise up the career ladder are the ones that respond best to the real mission, not the stated one. If the real mission is to get the 6-monthly profit to rise in order to keep the media off the boss’s back – that’s where the career possibilities lie. The person with an idea to cut costs by 3 per cent will be welcomed much more than another staffer with a plan for cutting greenhouse gas emissions.
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‘Short-termism is one of the most disturbing problems affecting modern organisations and produces some of the most common unethical behaviours.’ Lorenzo Patelli, accounting academic.
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Just as a staff member must uncover the real mission, so they must also understand the real business objectives – and their timescale. Every aspect of the business may be more short-term focused than is said or is written down. Naturally, this also affects decision-making and performance within every business. The long-term successes such as Whitbread plc, Ted Baker plc and Next plc have risen above short-term pressures and managed to implement sound long-term strategies. For struggling businesses such as Tesco, Morrisons’ and M&S, long-term strategies can be swept aside as City analysts and the media keep their eyes on short-term performance. This can become a deadweight on the shoulders of the business.
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Key terms


Annual General Meeting: a yearly meeting in which company directors invite all shareholders to come to quiz the board and vote on new resolutions. A legal requirement for plcs.


Dividend cover: measures how well a firm’s dividends are covered by its profits for the year. Accountants recommend a figure of at least 2, i.e., that the company should pay out no more than half its profits to shareholders.


Market capitalisation: the value placed on the business by the stock market, calculated as share price × number of shares issued.
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Five Whys and a How






	Question

	Answer






	Why might the shares of a successful company fall in price?

	Because their success is less than before, leading to dampened expectations; or because a new competitor makes the future look less encouraging






	Why might a company hold a rights issue?

	Because it wants to raise extra share capital to finance expansion without needing to get into debt to banks






	Why might a firm’s market capitalisation jump up when a rival makes a takeover bid?

	The bid pushes up the share price of the company being bid for, which in turn will boost its market capitalisation






	Why might business ownership affect business objectives?

	Ownership might affect whether the objectives are long term or short term






	Why might short-termism produce unethical behaviours?

	Business people may be encouraged to take shortcuts to boost profit, such as painting over cracks that really need to be mended






	How do directors decide on the ‘right’ level of dividends to pay out?

	They look at the profit for the year, work out how much capital they’ll need in the coming year, and then see what dividend level they can afford
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Evaluation: Issues in understanding forms of business


There is a tendency to exaggerate the role of shareholders and the stock market as a whole. The stock market raises relatively little capital to finance business expansion. The majority (about two thirds) of capital for reinvestment comes from business profits. The stock market provides less than 5 per cent of the new capital businesses need for expansion. Despite this, markets have an extraordinary hold over the decision-making by plc bosses because changes in share prices interest the public and therefore business journalists. If a struggling plc came up with an interesting new strategy that might take some years to bear fruit, few would back it.


Perhaps the incredible speed with which businesses such as Snapchat and Instagram became worth billions has strengthened the tendency to look for quick solutions to company problems. In the UK this is a greater problem than in almost every other country because of the huge influence of the City of London. In Germany in particular, the corporate heart of the country is in family business ownership, not in the stock market. This helps them take a longer-term view of the markets in which they operate.
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Workbook


A. Revision questions


(35 marks; 35 minutes)





1. Comment on whether each of these questions would be suitable for a company’s annual general meeting.







    a) What level of sales are we expecting from the new product you’ve outlined?


(2)


    b) What’s been the trend in our industrial accident rate lately?


(2)


    c) How does our percentage change in profits compare with that of our closest rival?


(2)








2. Why might shareholders argue that a company is setting its dividend levels too high?


(3)



3. Another war breaks out in the Middle East, pushing oil prices up sharply. What might be the effect on the share price of these companies?







    a) British Aerospace plc, one of the world’s Top 5 arms suppliers.


(2)


    b) Thomas Cook, travel agency.


(2)


    c) BP plc, oil supplier and retailer.


(2)








4. Explain why a short-termist approach to running a business might damage a company in the long term.


(5)








5. a) Examine Figure 3.3 (above) then outline two reasons why a long-term investor might be better off buying shares than holding savings in cash.


(4)


    b) Despite your answer to 5(a), outline one reason why holding savings in cash may still make sense.


(3)








6. Outline the advantages and disadvantages of a family-run private limited company compared with a plc.


(8)





B. Revision exercises


DATA RESPONSE


Tesco: Dividend under threat?


Britain’s biggest supermarket has had a torrid time in 2014 with its shares falling to a ten-year low. But things could be about to get even worse. Tesco’s dividend has been called into question by some analysts, who believe the supermarket giant has no alternative but to cut payments when it next reports to the market on October 1.


Last month Tesco announced the departure of chief executive Phillip Clarke, who will be replaced by Dave Lewis, of Unilever. Mr Lewis is expected to change Tesco’s strategy, perhaps to compete with the discounters, such as Aldi and Lidl. To fund the change analysts argue Tesco’s only option is to cut the dividend.


The main way investors assess whether a dividend is under threat is the dividend cover. This figure shows the degree to which the dividend payment is exceeded by the company’s profits. Those with a low ‘cover’ score are vulnerable as it means the company is paying out the majority, if not all, of its profits in the form of dividends. The higher the number the safer the dividend, with experts suggesting that a cover of two is reasonably safe. Tesco’s dividend cover over the past twelve months has been 1.6, which has come down from 1.8 in 2013.


As the table below shows, Tesco shares looks pretty vulnerable to a cut when looking at the dividend cover compared to its five major competitors. But Morrisons’ dividend looks even more insecure. It has been paying out all its profits in the form of dividends. So how can it finance the trading turnaround it needs?
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Chris White, who manages the Premier UK Equity Income fund, says: ‘We will not know until at least October, if not next year, about the direction Tesco is going to take its businesses, so it is difficult to invest today when there is so much uncertainty. The dividend is at risk, as well as its long-term strategy, so I am not buying,’ said Mr White.


Questions (25 marks; 30 minutes)





1. Explain why Tesco’s chief executive might be reluctant to cut its dividend.


(4)



2. Based on the data in the table, explain why Morrisons’ dividend ‘looks even more insecure’.


(5)



3. To what extent may the questions over Tesco’s dividend affect the long-term market capitalisation?


(16)





C. Extend your understanding





1. Figures 3.1 and 3.2 show a bleak picture of Marks & Spencer plc over recent years. To what extent may M&S shareholders be able to help the company return to profit growth?


(20)



2. Reread the Warren Buffett quote on page 16. To what extent do you think that Warren Buffett is right to have placed a high value on Wrigley’s shares because of ‘lack of change’?


(20)
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Chapter 4 External factors affecting business





[image: ]


Linked to: Understanding the nature and purpose of business, Chapter 1; Understanding the role and importance of stakeholders, Chapter 10; Marketing and competitiveness, Chapter 12.
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Definition


External factors include competition, demographics and environmental issues. Demographic factors involve population composition and trends; environmental factors deal with short- and long-term ‘green’ issues.
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4.1 Introduction


Business thrives on confidence. Confident consumers are willing to dip into their savings for a holiday or to borrow to buy a new carpet or car. Confident investors are willing to put more money into businesses in return for shares. And companies themselves will spend to invest in their future: new factory buildings, new machinery and new computer systems. All this spending can create an upsurge in economic activity.


The reverse also applies: gloom can spread doom. Therefore the economic climate is important (but is dealt with more fully in the second year of the A-level). This chapter covers other external factors that help to create a climate of optimism or pessimism. These factors include:





•  market conditions



•  competition



•  changes in household incomes



•  changes in interest rates



•  demographic factors



•  environmental issues





4.2 Market conditions


Figure 4.1 shows the tricky period for the UK economy between the start of recession in 2008 and the second quarter of 2014, when the economy finally returned to its pre-recession peak. The straight black line shows the GDP trend excluding the recession and the unprecedentedly slow recovery. The graph also shows the normal progress of the UK economy. For more than 200 years it has grown at just under 2.5 per cent per annum, i.e. growth is normal. Therefore the general expectation is that the underlying market conditions will be positive, with the size of markets expanding on a regular basis.




[image: ]






[image: ]




When market conditions are as tough as in 2008/09, there are likely to be failures as businesses run out of cash (Woolworths, La Senza and many others went under). There may also be huge pressures placed on company workforces, as people are forced to choose between redundancy and real wage cuts. In the recessions of 1980 and 1990, huge job losses pushed unemployment up above 3 million. The recent recession saw instead a huge squeeze on people’s real incomes, meaning that the pain was shared more fairly across the population. Government statistics show that between July 2008 and March 2014 earnings rose 8.6 per cent while prices rose 16.9 per cent. In addition to this squeeze on incomes, Figure 4.2 shows why consumer confidence was hard hit in 2009, with people worried whether they would be next for a redundancy notice. No wonder that, at times, even products like chocolate and chewing gum saw falls in sales volume as market conditions tightened.


In addition to the economy, other important factors affecting market conditions include:





•  Customer taste and fashion. In 2012, for no clear reason, consumers became more sceptical of foods with ‘diet’ claims. One result was that WeightWatchers’ yoghurts suffered a sales decline of 13.7 per cent in 2013.



•  Disruptive change, resulting from radical innovation or new technology. This can mean that old-established producers are suddenly struggling to remain competitive in the face of radically new market conditions.



•  The competitive structure. 70 per cent of the UK chocolate market, for example, is held by three huge firms: Mondelez (Cadbury), Mars and Nestlé. If the structure changes (if, for example, Mars bought Ferrero of Italy), market conditions would also change – perhaps making it even harder for a new small firm to enter the chocolate market.
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‘There’s no evidence that the business cycle has been repealed.’ Alan Greenspan, former Chairman of the US central bank.
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4.3 Competition


The tighter the economic and market conditions, the greater the competitive pressures tend to be. In 2009 price cutting was rife within the markets for airline travel, posh hotels, executive cars and more basic things such as furniture and carpets.


Competitive pressures stem from more than price, however. In most modern markets customers are looking for special experiences or product uniqueness to make them part with their cash. Therefore companies need to invest heavily in research and development and in the creativity of their workforce. In April – June 2014 Apple Inc. spent 36 per cent more on R&D than they had in the same period of 2013 ($1.6bn). Analysts concluded that the company was working on new products to be launched in Autumn 2014.
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‘Competition is the great teacher.’ Henry Ford, US auto pioneer.
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Real business


In Spring 2009, in the depths of the recession, website www.traveluxury.com advertised a huge range of hotels at discounts of up to 60 per cent. One offer, though, shouted out: an all-inclusive week at a ‘superluxury’ camp in the Serengeti big game reserve (Tanzania) reduced from $8,000 to $1,000 per person. That’s an 87.5 per cent discount! Despite this, they struggled to get takers. The camp was only 10 per cent full during the winter of 2009/10. During a recession, even price cuts may fail to change people’s behaviour.
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4.4 Changes in household incomes


According to a 2014 report, real household incomes fell by more than 6 per cent between 2007 and 2013/14. As a result of this squeeze, in the first half of 2014 supermarkets faced an unprecedented fall of 3.2 per cent in their sales volumes. A fall in sales volume had not happened since the Second World War. In addition to this decline in sales volumes, shoppers switched to discount stores to try to maintain their lifestyles. Clearly, changes in household incomes are hugely significant.


Household income is affected by three main things:





1. Changes in the real incomes of the main breadwinners. Generally, economies expand and therefore sales of most goods and services follow suit. The only exceptions are ‘inferior goods’.



2. The number within the household who work. Partly this is a function of how many people are in the household at all. One reason consumer spending didn’t fall further in the recession was that fewer young people left home. So instead of two households, each having to face electricity bills and so forth, more were crammed into one house. This helped to offset some of the spending pressure from falling real wages. Another important factor was the rise in the number of people taking part-time jobs.



3. The impact of government decisions on taxation and benefits. The impact of tax changes has been broadly neutral in recent years, but cutbacks in benefits (especially to the disabled) have hit the spending power of many. In 2014 The Trussell Trust reported that the use of food banks rose from 346,992 people in 2012/13 to 913,138 people in 2013/14.
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‘The last thing you want to do is raise taxes in the middle of the recession.’ Barack Obama, US President.
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For every business it is invaluable to forecast the rate of change in household incomes. As with every economic forecast, this is easier to say than to do.


Index numbers and household income


Both economic and business data are often analysed using index numbers. An index means converting a series of data into figures that all relate to a base period where the data is equal to 100. This allows users of the data to see at a glance the percentage changes and trends. In the table below, Column A shows changes in the total price of the average household’s shopping basket. As you can see, this rises from £402 in 2005 to £514 in 2014. Column B converts that complex data into an index. This starts by saying ‘let £402 = 100’, then all the other figures in Column A are related to that base figure of 100 by showing the percentage change from that base figure. For example, the figure for 2014 is [image: ].


The advantage of index numbers is that you can see quickly that, for example, prices rose by 27.9 per cent between 2005 and 2014. So index numbers help you understand trends rather more easily.
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[image: ]




Their other huge benefit is that they enable direct comparisons to be made between different data series. In the case of price changes (shown by the consumer price index), the interesting recent comparison is with household incomes. This data is shown in Figure 4.3. It shows incomes outstripping prices in 2006 and 2007, but then being dragged back until – from 2011 – the income rises fall behind price rises. That means living standards falling – year after year.


If we had tried to plot the actual figures for price increase or earnings on the same graph, the different scales needed would make a comparison difficult.


4.5 Changes in interest rates


The interest rate is the price charged by a bank per year for lending money or for providing credit. Individual banks decide for themselves about the rate they will charge on their credit cards or for the overdrafts they provide. But they are usually influenced by the interest rate that the Central Bank charges high street banks for borrowing money: the bank rate. In Britain, this is set each month by a committee of the Bank of England. As shown in Figure 4.4, the standard rate of interest in the UK has generally been around 4 to 5 per cent. In March 2009, though, the rate was cut to its lowest point in the Bank of England’s history: 0.5 per cent. And it remained there as a way of helping to revive an economy hit very hard by the 2009 recession.
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‘Never has so much money been owed by so few to so many.’ Mervyn King, Governor Bank of England, on the £1,000 billion bailout from taxpayers to Britain’s banks.
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Source: www.bankofengland.co.uk





The Bank of England committee is asked to set interest rates at a level that should ensure UK prices rise by around 2 per cent per year. If the committee members decide that the economy is growing so strongly that prices may rise faster than 2 per cent, it will increase interest rates. Then people will feel worried about borrowing more (because of the higher repayment cost) and may cut their spending. This should help to discourage firms from increasing their prices.


For firms, the level of interest rates is very important because:





•  It affects consumer demand, especially for goods bought on credit, such as houses and cars. The higher the rate of interest, the lower the sales that can be expected.



•  The interest charges affect the total operating costs (that is, the higher the interest rate, the higher the costs of running an overdraft, and therefore the lower the profit).



•  The higher the rate of interest, the less attractive it is for a firm to invest money in the future of the business. Therefore, there is a risk of falling demand for items such as lorries, computers and factory machinery.
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If interest rates fall, the opposite effects occur, to the benefit of both companies and the economy as a whole.


4.6 Demographic factors


Demographics looks at the make-up of the population. This can usefully start with population size. With a healthy, rising population, the United Nations predicts that the UK will catch up with the population of Germany by 2050. Also interesting is Nigeria’s dramatic rise, perhaps to overtake the US, and population decline in Japan, China and Germany. For companies, expanding into Nigeria currently looks more exciting than Japan.




[image: ]




For businesses, other key population variables include:





•  Age − with the proportion of older people forecast to grow considerably, creating opportunities for the companies that can find the relevant products or services



•  Gender − with products such as games consoles tending to be male, while cosmetics remains dominated by female purchasing



•  Ethnicity − with opportunities already seized in sectors such as cosmetics, magazines and fast food, there may yet be more opportunities for products targeted at specific ethnicities in the markets for food, soft drinks and confectionery.





4.7 Environmental issues and Fairtrade


With changes in the economy, firms can choose how to react but their decision-making powers are limited. With social or moral questions about green issues or Fairtrade supplies, firms have a great deal more scope to choose what to do. They may decide to do the minimum, focusing on profit-maximisation. This would be entirely understandable if the survival of the business was under threat. Other business, though, might choose to do more than the minimum for moral or ethical reasons. Some bosses, though, see something like Fairtrade as a great marketing tool for selling more chocolate, or coffee or whatever. In other words, they view environmental or ethical issues merely as business opportunities.


There are four factors to consider here.





1. The immediate effect on the environment of actions businesses take, especially the impact on the local community. Some of these represent a straight choice between profit and social responsibility, such as fly-tipping. Because the UK has a landfill tax, it costs builders £80 per tonne to dispose of waste materials. Some are tempted to save their money by dumping waste at the side of roads. This fly-tipping disfigures landscapes and is a grimly cynical way to boost a firm’s profit.



2. Sustainability, that is making sure that the actions of your business will not rob future generations of the availability of key resources. Toilet roll brand Velvet states on every pack that they plant three trees for every one cut down to make the paper. Other companies may pay less regard for the long-term future.



3. Global warming. The issue here is the impact of the business on greenhouse gases such as CO2. In a year, people and businesses globally generate 31,600 million tonnes of CO2. Some companies make a considerable effort to minimise their own ‘carbon footprint’; others do not.



4. Fairtrade supplies, that is whether a business chooses to sign an agreement that all its raw materials will be bought through the Fairtrade organisation. This should guarantee that all supplies will be bought on terms that are more favourable to the farmers/producers than the usual market price. Typically these agreements are for a minimum of five years, thereby helping Fairtrade producers such as Uganda’s Gumutindo Coffee Co-operative.
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Five Whys and a How






	Question

	Answer






	Why might Aldi and Lidl struggle when the UK economy starts to generate higher real incomes?

	Because their sales boom in the 2010-2014 period may have been due to ‘downtrading’, as people switched to lower suppliers, therefore the reverse may happen as the economy recovers






	Why might a rise in competition mean a fall in standards?

	Usually consumers benefit from competition, but with complex products such as pensions, suppliers may compete to see who can exploit (‘rip-off’) customers the most effectively






	Why might a rise in interest rates hit profits at a business such as Tesco?

	Higher interest rates hit consumers’ discretionary income, so spending falls (and so does Tesco revenue); also, higher rates force Tesco to pay more on its bank borrowings/overdrafts






	Why may a move to Fairtrade supply damage the profits of a chocolate manufacturer?

	If the higher supply costs are not outweighed by higher sales volume or higher consumer prices, Fairtrade supply will inevitably dent profits






	Why may fly-tipping rise in recessions?

	If builders are struggling to survive, fly-tipping may be a tempting way to cut costs






	How are real incomes measured?

	By deducting price rises from the changes in people’s incomes, for example, 3 per cent more income but prices up 5 per cent - you’re 2 per cent worse off in real purchasing power
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Evaluation: External factors affecting business


When companies publish their annual results commentators groan if the boss blames disappointing results on external factors such as the weather or the weakness of the economy. Business journalists admire chief execs who achieve their targets no matter what. Yet that may not be realistic. If you’re running Coca-Cola you have huge control over your pricing and therefore can probably find a way to boost profits to meet analysts’ expectations.


Most firms, though, are vulnerable to external factors. Even monopolies (when a single firm dominates a market) are subject to changing consumer habits, as Microsoft and even Apple have found in recent years. If things seem to be going wonderfully well, and every commentator thinks your business is bulletproof, it’s probably time to worry. The one-time boss of monopolist microchip supplier Intel, Andy Grove, once said that ‘only the paranoid survive’. That remains grimly true.
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Key terms


Consumer demand: the levels of spending by consumers in general (not just the demand from one consumer).


Discretionary income: a person’s income after deducting taxes and fixed payments such as rent and utility bills.


Disruptive change: a new initiative that changes the rules within a market or within factory production; its radically different design meant that the iPad did exactly that within the market for tablet computers.


Economic climate: the atmosphere surrounding the economy (for example, ‘gloom and doom’ or ‘optimism and boom’).


GDP (Gross Domestic Product) is the value of all the goods and services sold throughout the economy over a period of time (annually or perhaps per quarter),


Inferior goods suffer falling sales when people are better off, and rising sales when people are worse off. (Think Poundland or Iceland frozen foods.)


Real: changes in money (for example, wages) excluding the distorting effect of changes in prices. So a fall in real wages might mean that wages are unchanged but prices have risen.


Recession: a downturn in sales and production that occurs across most parts of the economy, perhaps leading to six months of continuous economic decline.
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Workbook


A. Revision questions


(30 marks; 30 minutes)





1. Explain why a fall in spending in London could have a knock-on effect on the economy in Bradford, Plymouth, Norwich or anywhere else in the country.


(3)



2. Explain whether the Bank of England should raise or cut interest rates in the following circumstances:







    a) a sharp recession has hit the UK economy.


(3)


    b) house prices have risen by 16 per cent in each of the last two years.


(3)


    c) household incomes and spending have been rising rapidly.


(3)








3. Outline how an economic downturn could affect the level of unemployment.


(5)








4. a) Outline a demographic change that could boost sales at Mothercare.


(2)


    b) Explain the possible impact on a supermarket chain of an increase in inward migration to the UK.


(5)








5. What is meant by the term ‘Fairtrade’?


(2)



6. Outline two possible reasons why a manufacturer of chemicals might invest more heavily in anti-pollution measures.


(4)





B. Revision exercises


DATA RESPONSE


External pressures on the grocery market


The booming discount supermarket chain Aldi is on the verge of overtaking upmarket Waitrose to become the UK’s sixth biggest supermarket as the German-owned grocer continues to open new stores and steal customers from its bigger rivals. Industry data released yesterday shows that while Tesco and Morrisons’ continue to decline, Aldi’s share of grocery till receipts rose to 4.8 per cent in the 12 weeks to 20 July 2014. A year ago the discounter’s market share was 3.7 per cent, according to figures from retail analysts Kantar Worldpanel.


Over the same period, Waitrose’s market share edged up to 4.9 per cent from 4.8 per cent last year, while Tesco dropped to 28.9 per cent from 30.3 per cent. The data confirms the trend of shoppers abandoning mid-market players in favour of more upmarket rivals and the discounters, with increasing numbers of shoppers cherry-picking from both ends of the market. ‘Waitrose has continued to resist pressure from the competition, testament to its policy of maximum differentiation, and has grown sales by 3.4 per cent. This figure is well above the market average and thereby has lifted its market share’, according to Edward Garner, director of Kantar.


Despite this positivity, The Grocer magazine has questioned whether Waitrose is now starting to suffer. Its profit margins at 5.4 per cent are well above industry averages, and perhaps shoppers are starting to query its value for money. Partly because of its high prices, Waitrose offers free delivery to online grocery shoppers. With online sales booming it may be that Waitrose profits start to get squeezed by the free delivery, given that picking and delivery is far from free from the shop’s point of view.


The numbers come against a backdrop of a challenging market. Kantar says grocery price inflation has fallen for the tenth successive period and now stands at just 0.4 per cent − its lowest level since prices were first measured in 2006. As a result, market growth has fallen to 0.9 per cent.


Tim Vallance, head of retail at property group JLL, said: ‘The figures highlight the impact that the big four’s response to the rise of the discount retailers is having on the grocery sector, with vicious price cutting leading to shrinking market growth. As shoppers continue to demand a more convenient offer in an increasingly digital world, supermarkets need to think about how and where their customers shop and need to focus on choice, provenance, quality, service and convenience to differentiate from the discounter offering.’


Sources: adapted from The Guardian, 30 July 2014 and The Grocer, 9 August 2014


Questions (25 marks; 35 minutes)





1. Analyse the market conditions faced by Waitrose at this time.


(9)



2. To what extent would Waitrose have been wise, at this time, to have differentiated itself further by switching entirely to Fairtrade supplies?


(16)





C. Extend your understanding





1. To what extent may demographic changes influence the future plans of a business that you know?


(20)



2. In the last recession, the UK steel company Corus closed its Scunthorpe steelworks, making hundreds redundant. Discuss the strategies Corus, or other companies you have researched, could have adopted to prepare for recession.


(20)
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Chapter 5 What managers do
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Linked to: Understanding the nature and purpose of business, Chapter 1; Managers, leadership and decision-making, Chapter 6; Motivation and engagement in theory, Chapter 46; Improving organisational design, Chapter 48.
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Definition


Managers organise and galvanise staff into implementing the strategies needed to achieve the business objectives.
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5.1 Introduction


A recent study of jobs across Europe showed that a higher percentage of UK employees defined themselves as ‘managers’ than in any other country. In the UK 11.6 per cent said they were managers; in Germany the figure was 4.7 per cent and in Denmark just 2 per cent. The report’s authors concluded that the British are happier describing themselves as managers than in other countries. Elsewhere, the term ‘professional’ or ‘technician’ seems more desirable.


So what is this job that the British seem so keen on? Essentially it’s about making things happen. For example, a school might employ a company to design a new website. A manager at the school will be put in charge of the project; that person will make sure that the agreed contract will be delivered on time and within budget. This will require meetings, briefings and contacts to make sure everything is running smoothly. At the end of the project, many of the ‘sign-offs’ will be straightforward, such as agreeing that yes, the site allows downloads and yes, all the hyperlinks work. Others will require judgement, such as the design of the home page: Professional-looking? Distinctive? Well-branded? And so on.


In effect, the professionals or technicians are doing the time-consuming and tricky things; the manager is just the overseer. Does that represent a satisfying job? In fact, recent research suggests that managers do enjoy their jobs. Seven of the top 20 places (out of 274 job categories) were taken up by managers. Table 5.1 shows, among other things, the lack of correlation between job satisfaction and income.
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‘Management is getting paid for home runs someone else hits.’ Casey Stengel, baseball player and manager
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5.2 The academic study of what managers do


The first significant study of management was by Henri Fayol, a French business executive. His key book General and Industrial Management (1916) suggested that ‘to manage is to forecast and plan, to organise, to command, to co-ordinate and to control’. This list reads perfectly well a hundred years later, though in the modern world there would be an attempt to make it sound less like an Army general giving out orders.


Fayol’s list formed the basis of Henry Mintzberg’s attempt in the 1970s to identify what, exactly, managers did with their time. Was it all spent planning and controlling? In fact careful research showed that, on average, managers were only able to carry out an activity for 9 minutes before being interrupted. He was able to show that instead of management being a careful, intellectual process of planning, managers were fallible humans being interrupted continuously. To describe the work of a manager, Mintzberg identified six characteristics of the role:





1. Managers process large, open-ended workloads under tight time pressure



2. Managerial activities are short in duration, varied and fragmented and often self-initiated



3. Managers prefer action-driven activities and hate letters, (emails) and paperwork



4. They prefer verbal communications through meetings and phone calls



5. They maintain relationships mainly with subordinates and external parties – least with their superiors.



6. Their involvement in the execution of the work is limited though they initiate many of the decisions.





In truth, Mintzberg’s list risks understating the relative chaos he identified. He found that management was largely reactive, fighting short-term fires and often failing to put them out.
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‘If you ask managers what they do, they will most likely tell you that they plan, organise, co-ordinate and control. Then watch what they do. Don’t be surprised if you can’t relate what you see to those four words.’ Henry Mintzberg, academic and author
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If Mintzberg had become the expert on what managers do, Peter Drucker remained the key figure in saying what they should do. To Drucker, the key was to keep the manager’s eyes on the prize – and that prize was reaching the objectives. It is important to bear in mind that Drucker’s key research and writing about business was between 1944 and 1950. In other words, towards the end of – and just after – the Second World War. Although Drucker wanted managers to develop staff and use them humanely, he was even more seized by the need to achieve the mission, be it defeating Hitler or finding a way to survive in a tough competitive environment.


So, what should managers do, according to Drucker?





1. Set clear objectives that all staff believe in



2. Find the right team for meeting the objectives. Drucker believed strongly in teamwork, but knew that many individuals would need to be taught/coached to devote their personal strengths to the group.



3. Help ensure that all staff are motivated. He did not regard ‘employee satisfaction’ as a relevant measure of this; he thought motivation came from within when people were given responsibility. Therefore delegation was a central management task.



4. Drucker was very conscious of the way that factory automation had eliminated certain job roles; he expected this process to grow in future. Therefore, he thought that managers needed to prepare staff for change in general, and specifically help staff learn to learn –thereby being able to adapt to changing job prospects in the future.
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‘A manager’s job should be based on a task to be performed in order to attain the company’s objectives… the manager should be directed and controlled by the objectives of performance rather than by his boss.’ Peter Drucker, management guru
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From the above analysis of the writings of Fayol, Mintzberg and Drucker it is possible to put together a list of the key roles of managers. This is developed in section 5.3.


5.3 The role of managers should include:


Setting objectives: managers need a clear idea of what they want to achieve. This, of course, will depend upon the company-wide (or ‘corporate’) objectives. The objectives need to be set clearly and specifically – and then put into language that all staff can understand. Especially in the modern world where half the staff may be temporary or part-time, it is vital to boil the objectives down into an easily-remembered phrase.


Analysing: there are three aspects of this that matter:





•  Analysing the underlying conditions the business faces (which may lead to new objectives being set)



•  Analysing the performance of different staff; in 2012 Morrisons’ supermarkets decided to set its checkout staff the target of scanning items in no more than 3 seconds. The company announced that staff who consistently failed to meet the target would be moved to other jobs in-store.



•  Analysing how effectively objectives are being met.





Leading: inspiring staff commitment to achieving the goals, in whatever way works for the individual. Some may do this by charisma, that is, by using the power of their personality; others may inspire because of their personal achievements or commitment; finally there may be leadership through effective control and direction – helping staff to see exactly what they must do to be successful. This topic is covered fully in Chapter 6.


Making decisions: though perhaps this should say ‘getting decisions made’ because it may be that the manager will delegate the task to junior staff. With decision-making, the key is to understand that some decisions have to be made by specific deadlines – even though this may be too early to have all the facts available. Successful managers will have confidence that no one will expect them to get every decision right. A success rate above 50 per cent is pretty impressive in most contexts.


Reviewing: this is hard to do when the outcome from a decision has been poor, therefore it is excellent business practice to insist that every decision be reviewed – perhaps by a small team that should include someone who was not involved in the original decision. In the long run the businesses that succeed will be the ones that learn most from their mistakes – and from their successes.
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‘A manager’s task is developing and maintaining a culture that promotes work.’ Blake and Mouton, The Managerial Grid.
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Five Whys and a How






	Question

	Answer






	Why may management represent a satisfying job?

	Because it has responsibility and some autonomy (independence), giving it some important motivators






	Why may the clergy find more satisfaction from their job than anyone else?

	Presumably they get satisfaction from helping people (their flock); and there’s probably a lot of responsibility involved






	Why may managers prefer verbal to written communication (according to Mintzberg)?

	Perhaps because it makes it easier to get feedback/provoke discussion and also may help in building more team spirit






	Why might Drucker have emphasized teamwork?

	Because a key lesson of the Second World War was that allies can work effectively with each other – as long as they share a common objective






	Why may it be hard for managers to analyse the underlying conditions they face?

	Because the constant interruptions they face (every 9 minutes, says Mintzberg) would make it hard to concentrate on the research






	How might managers react to Mintzberg’s findings about what managers actually do?

	They would want to avoid constant interruptions and firefighting; they might demand to work from home one day a week – or close their office door once a week – to create the opportunity to plan
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Evaluation: What managers do


Mintzberg’s research captured the mismatch between management in theory and in practice. One expects managers to be thinking, planning and controlling. Instead they’re having to react to a series of short-term pressures. Are things any different today? Recent research suggests that little has changed since 1973. So managers keep themselves busy, but may not achieve much.


One way to change this is to delegate more – and to truly resist the temptation to meddle. Then you can tell your staff to come back when they have sorted out the problems. Another way to achieve the same objective is to ban people coming to see you on certain days – but realistically that will just build up a lot of pressure for the ‘on’ days.


What Mintzberg doesn’t quite resolve is whether managers like an over-interrupted existence and therefore encourage it (perhaps unconsciously). Not only would it make the manager feel very important, but it would also save her or him from having to do the hard bit: thinking and planning.
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‘Failing organisations are usually over-managed, but under-led.’ Warren Bennis, business academic
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Key terms


Co-ordinate: the management task of ensuring that staff carrying out different parts of a project are all working to the same time schedule and quality standards.


Subordinates: those working for a manager and therefore under his or her command.
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Workbook


A. Revision questions


(25 marks; 25 minutes)





1. a) Within the text covering Fayol, distinguish between ‘commanding’ and ‘controlling’.


(4)


    b) Explain why each is important to the completion of a project task.


(4)








2. Explain in your own words the meaning behind Casey Stengel’s quote (see page 30).


(4)



3. In relation to Mintzberg, what might be the implications of management activities being ‘self-initiated’?


(4)



4. Explain in your own words Drucker’s view on the implications of rising levels of automation.


(4)



5. Other than learning from your mistakes, what else may be the benefit to a business of reviewing activities and decisions?


(5)





B. Revision exercises


DATA RESPONSE


In the past 18 months Waterstones bookshops have been following a new strategy. Authority has been delegated to each store manager, allowing each to decide on the right range of books for their local area. So whereas a bookstore in one part of town might stock romance and crime, close to the University there might be academic books plus a big section on pop music. In addition, there has been a huge push to train staff to know more and therefore be more helpful to customers. The staff member at the till alongside the crime novels should be knowledgeable and interested in these books.


All this might seem obvious, but for the previous 10 years Waterstones’ management had done the reverse. All buying decisions were made at Head Office, and all the stores ended up with the same range of stock (mainly based on the Top 50 sellers), sold on a Buy One Get One Half Price promotional model. Waterstones had ended up with this approach when confronted with twin-pincer competition from supermarkets on the one hand (‘New Harry Potter for £9.99!’) and Amazon on the other. But trying to beat these rivals on the basis of price was a lost cause. The supermarkets would cherry-pick the Top 20 titles and slash their price, while Amazon not only benefited from much lower overheads (no High Street rents) but also from a tax dodge that saw all sales go through Luxembourg, eliminating UK corporation tax. The latter arrangement still exists, giving wealthy Amazon an unfair competitive advantage.


The decision to allow the store managers to choose their own stock preferences might prove highly successful. It will not only make the stores more interesting for customers to visit, but should also provide the store manager with the motivation that comes from responsibility and from the level of challenge that comes with it.


Questions (25 marks; 30 minutes)





1. Analyse whether Drucker would agree with the new strategy at Waterstones.


(9)



2. To what extent should Waterstones back up its policy of delegation by offering financial incentives to its store managers?


(16)





ASSIGNMENT


Make an appointment to interview a curriculum manager within your school/college (ask your teacher for advice). Then find out:





•  Their main areas of responsibility



•  How much time they try to devote to each



•  How long is it, on average, before they’re interrupted from what they’re trying to do?



•  What they see as the pros and cons of a management role compared with being a classroom teacher.





Write up your findings making comparisons with Mintzberg where helpful. The assignment should be completed in no more than 500 words.


C. Extend your understanding





1. Henry Mintzberg has written that ‘the pressures of the job drive the manager to take on too much work, encourage interruption, respond quickly to every stimulus, seek the tangible and avoid the abstract, make decisions in small increments and do everything abruptly.’ To what extent does this description fit in with Drucker’s view of what the manager’s job should be?


(20)



2. Within the UK Civil Service, 53 per cent of employees are female and 9.6 per cent are non-white. Among senior management Civil Service grades, 36 per cent are women and 4.8 per cent are non-white. (2013 figures published by the ONS). Discuss what might be done to address the under-representation of women and non-whites in senior management posts in the UK today.


(20)
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Chapter 6 Managers, leadership and decision-making
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Linked to: Understanding the nature and purpose of business, Chapter 1; What managers do, Chapter 5; Motivation and engagement in theory, Chapter 46; Improving organisational design, Chapter 48.
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Definition


Leadership means taking the initiative to set clear objectives and to motivate or guide staff towards their achievement. Management means organising and galvanising staff to implement the strategies needed to achieve the objectives.
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6.1. Introduction


In 2013 the UK’s best paid boss was Angela Ahrendts, the Chief Executive of Burberry plc. She received £16.9 million in 2013 and was then ‘poached’ by Apple, who may be about to pay her close to $100 million a year in future. That’s a salary that even Christiano Ronaldo can only dream of (he has to ‘get by’ on £400,000 a week, way short of $2m a week for Angela). She did a wonderful job for Burberry, building it into a serious global luxury brand – with an especially strong position in China. The main criticism of such pay levels, though, is whether it can be morally right for the boss to be paid 1,000 times as much as shop floor staff. Is leadership ever worth that much?


In recent years business leadership has become an industry in itself. It is assumed that dynamic success comes from dynamic, charismatic leaders. By implication, therefore, these fabulous people are worth fabulous sums of money.


Sometimes, this is unarguably true. What was Sir Alex Ferguson ‘worth’ to Manchester United? And what was Sir Ken Morrison worth, in building his small supermarket business into a national chain between 1967 and 2008? He was worth lots, undeniably lots. Great leaders exist, and they are worth big financial rewards. Unfortunately, there are many examples of ordinary leaders with ordinary achievements also being paid huge sums. Even though the amount paid may be relatively trivial for a big business, the implications are very significant. The media may over-emphasise the importance of ‘the great leader’, making it harder for intelligent, but modest, bosses to be given time to succeed.
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Real business


In January 2014 the value of Sainsbury’s shares fell by £400 million when boss Justin King announced that he would be standing down after a decade as the chief executive. When he arrived Sainsbury’s was struggling after:





•  losing its ‘No. 1’ position to Tesco



•  wasting £1 billion on a stock control system that didn’t work



•  a marketing debacle in which they had to scrap a very expensive TV campaign because sales fell when the commercial ran!





In the decade that followed Justin King kept completely focused on rebuilding the Sainsbury’s UK business. He didn’t allow himself to get distracted by overseas adventures, and managed to keep on top of the three big stories in UK grocery in the past ten years: the growth of online ordering; the growth of smaller convenience stores and the continuing concern over diet and health. During his tenure Sainsbury’s profits trebled to £750 million a year. King’s remuneration was as high as £2.6 million a year – but it is easy to see that his sensibly focused approach meant that he was worth it.
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6.2 Introduction to leadership styles


The way in which bosses deal with their employees is known as their leadership style. For example, some managers are quite strict with workers. They always expect deadlines to be met and targets to be hit. Others are more relaxed and understanding. If there is a good reason why a particular task has not been completed by the deadline, they will be willing to accept this and give the employee more time. Although the way in which managers manage will vary slightly from individual to individual, their styles can be categorised under three headings: autocratic, democratic and paternalistic. See Table 6.1.


Autocratic managers


Autocratic managers are authoritarian: they tell employees what to do and do not listen much to what workers themselves have to say. Autocratic managers tend to use one-way, top-down communication. They give orders to workers and do not want feedback.
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‘You do not lead by hitting people over the head – that’s assault, not leadership.’ Dwight Eisenhower, US President
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Democratic leaders


Democratic leaders, by comparison, like to involve their workers in decisions. They tend to listen to employees’ ideas and ensure people contribute to the discussion. Communication by democratic managers tends to be two-way. Bosses put forward an idea and employees give their opinion. A democratic leader will regularly delegate decision-making power to junior staff.


The delegation of authority, which is at the heart of democratic leadership, can be approached in one of two main ways: management by objectives and laissez faire.


Management by objectives


In this situation the leader agrees clear goals with staff, provides the necessary resources, and allows day-to-day decisions to be made by junior staff. These goals will necessarily be SMART, that is Specific, Measurable, Achievable, Relevant and Timebound. As a consequence, junior staff know that their efforts will be monitored against specific targets, such as: ‘cut factory wastage costs per unit by 5 per cent within the next 18 months.’


Laissez-faire


Meaning ‘let it be’, this occurs when leaders are so busy, or so lazy, that they do not take the time to ensure that junior staff know what to do or how to do it. Some people may respond very well to the freedom to decide how to spend their working lives; others may become frustrated. It is said that Bill Gates, in the early days of Microsoft, hired brilliant students and told them no more than to create brilliant software. Was this a laissez-faire style or management by objectives? Clearly the dividing line can be narrow.
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Paternalistic leaders


A paternalistic leader thinks and acts like a father. He or she tries to do what is best for their staff/children. There may be consultation to find out the views of the employees, but decisions are made by the head of the ‘family’. This type of boss believes employees need direction but thinks it is important that they are supported and cared for properly. Paternalists are interested in the security and social needs of staff.
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‘As for the best leaders, the people do not notice their existence. The next best, the people honour and praise. The next, the people fear; and the next, the people hate… When the best leader’s work is done the people say, “We did it ourselves.”’ Lao Tzu, quoted in Townsend, R., and Joseph, M., Further up the Organisation
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6.3 Blake’s Grid


Following research conducted between 1958 and 1960, Robert Blake and Jane Mouton developed a grid for analysing styles of leadership. The Blake and Mouton Grid looks at two leadership behaviours: ‘concern for people’ and ‘concern for performance’. It then grades people on each of these scales to formulate a judgement on the type of leader they are. If, for example, a leader was obsessed with success at all costs, no matter what the impact on staff, they would be a 9,1 (Highest concern for performance; lowest concern for people). When appointed Fulham manager in the 2013/14 season, Felix Magath was called ‘Saddam’ and ‘The Torturer’ by former players. A 9,1 to be sure. By contrast, the best two post-war managers, Brian Clough and Alex Ferguson were both concerned about their people as well as their performance. Both were highly paternalistic; both were 9,9s. That was the combination viewed by Blake and Mouton as the leadership ideal.
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The labels that Blake and Mouton gave for each of the 5 leadership types were:


9,9 − Team management/Teamwork


9,1 − Authority/Obedience


5,5 − Middle-of-the-road management


1,9 − Country club management


1,1 − Impoverished management


To elaborate further, it can be said that:





•  9,9 (Team management): the boss shows interest and trust in staff, with a full belief in the synergy implied by successful teamwork (the whole is greater than the sum of the parts). Despite this, the steely determination to succeed would make it very tough for any team member who wasn’t contributing effectively.



•  9,1 (Authority/Obedience): a fanatical drive to succeed, but on the leader’s own terms (‘my way or the highway’); staff are truly ‘human resources’, to be used or cast aside like any other resources; strongly linked to an authoritarian leadership style – and perhaps too likely to succeed in the short term only; in the longer term, good staff will leave.



•  5,5 (Middle of the Road): a decent, honest attempt to get the best of both worlds, but struggling to succeed at either; too willing to trade being nice for being successful; think mid-table obscurity or OK-but-not-great performance; when times are good, investors may not realise that it’s all a bit second-rate. A famous Warren Buffet saying comes into effect, though, when times are tough: ‘Only when the tide goes out do you discover who’s been swimming naked.’



•  1,9 (Country Club): the boss is a really nice person; the staff love her or him but can’t stop themselves taking advantage of the situation. There’s a lack of urgency about getting things done – and probably quite shockingly poor productivity. This situation can only survive if monopoly power is keeping competition away from the business.



•  1,1 (Impoverished management): the boss has neither concern for the staff nor the performance of the business. Some writers have related this to Laissez faire management, but that may be harsh; some laissez faire managers see advantage in letting staff think and work for themselves. In the case of a 1,1 manager, there is absolutely no interest in the business or the people working for it.


    In a later development of their theory, Blake and Mouton accepted that a sixth possibility was an entirely opportunistic approach to leadership in which the leader would adopt any style that would help in achieving a specific objective. This might be for no better reason than to maximise the leader’s personal remuneration.
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‘A leader is like a shepherd. He stays behind the flock, letting the most nimble go out ahead, whereupon the others follow, nor realizing that all along they are being directed from behind.’ Nelson Mandela
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6.4 The Tannenbaum Schmidt Continuum


In 1973 two business academics, Tannenbaum and Schmidt, found a way to present leadership characteristics more dynamically than in the Blake and Mouton Grid. Blake’s grid implies that a boss is (and will always be) a 1,9 or a 5,5. By contrast Tannenbaum and Schmidt devised a ‘continuum’ which suggested that people-centred leadership skills could be learned and developed. This was an attractive idea for Human Resource professionals, who saw an opportunity for devising useful training courses (‘learning to lead’).


On the continuum (see Figure 6.3) the single issue is a scale relating to the degree to which staff are involved in decision-making. On the left is the purely autocratic process: boss decides. That is steadily softened so that by mid-way, the manager presents the decision but then allows a degree of consultation and discussion in which the decision may change. Further to the right, consultation develops into delegation: getting staff to actually make decisions for themselves.
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Despite the analytic value of the Continuum, Blake’s Grid proved to have more of an impact upon managers in general. They found it easier to apply to their own workplaces and to the bosses they knew or had known.
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6.5. Leaders and managers


It is important to understand that the role of the leader is not the same as that of the manager. Management guru Peter Drucker once said that: ‘Managers do things right; leaders do the right thing.’


In other words, an effective manager is someone who can put an idea or policy into action, and get the details right. By contrast, the leader is good at identifying the key issues facing the business, setting new objectives, and then deciding what should be done, by when, and by whom. It is also sometimes argued that a leader needs to inspire staff. This is often confused with charismatic leadership, that is, when the personal charisma of the leader inspires staff to give something extra or work a bit harder. Although some successful leaders such as Ghandi, Churchill and Mandela had charisma, many others had success despite quite dull personalities. The great British Prime Minister Clement Attlee ‘had a lot to be modest about’, according to Churchill. Liverpool FC’s long period as Britain’s top club began with the charismatic Bill Shankly, yet the huge haul of trophies came later, under the leadership of the shy, slightly bumbling Bob Paisley.
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‘All good leaders have the capacity to create a compelling vision and translate it into action and sustain it’. Warren Bennis, author and organisational consultant
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6.6 Effectiveness of different leadership styles


In a BBC poll, Sir Winston Churchill was voted as the ‘Greatest Ever Briton’. This accolade was for his achievement as the country’s leader in the Second World War. Few would call him the Prime Minister; he was the leader. Yet before the war Churchill’s career had been peppered with poor decision-making and difficulties forming political alliances, let alone leading them. Churchill’s charismatic, hands-on and paternalistic style proved to be what the country needed at a time of crisis. Immediately after the war Churchill was voted out of office by a country that revered him. People knew he wasn’t the leader for the peace.


The effectiveness of a leadership style, therefore, depends greatly on circumstances. At a time of crisis, autocratic and strong paternalistic approaches can work – bringing speedy decision-making at a time when staff want exactly that. Sometimes leaders who have performed well during a crisis are pushed aside shortly after, as the company needs a more democratic, cohesive leader for the good times.


More controversial is whether different leadership styles are needed in different parts of the world. And, if so, is the explanation cultural or due to differences in standards of living and development. This issue is covered more fully in the second year of the A-level course.
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Key terms


Autocratic leadership: when the boss keeps all key decisions to him or herself, and gives orders, rather than power, to subordinates.


Charismatic leadership: a leader whose dynamic or magnetic personality makes people willing to follow. The widely held view is that leaders require a dynamic or magnetic personality in order to succeed. Research does not support this.


Democratic leadership: this implies empowering people. That is, delegating full power over the design and execution of substantial tasks.


Laissez-faire leadership: this means allowing people to get on with things themselves, but without the co-ordination and control implicit within democratic leadership.


Paternalistic leadership: this means ‘fatherly’. That is, the boss treats staff as part of the family. Typically, this shows through as consultation, but with decision-making remaining at the top (‘Dad’ decides).
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Five Whys and a How






	Question

	Answer






	Why might an uncharismatic leader be successful?

	As long as the leader asks the right questions and makes the right calls on the big decisions, charisma is irrelevant






	Why might laissez-faire leadership be a problem in a large organisation such as Unilever or Tesco?

	Because it would be impossible to co-ordinate a wide range of wholly different approaches by different parts of the business (management by objectives would work far better)






	Why might a 9,1 leader be more successful than a 5,5?

	The 9,1 leader is a fanatic who drives people on to achieve success, quite possibly against their will; the 5,5 is too woolly, too accepting of compromise






	Why might Blake’s Grid be better known among business people than Tannenbaum and Schmidt’s Continuum?

	It gives more insight into the leaders they work with every day because it looks at their drive for success as well as their attitudes to their staff






	Why might a leader ‘be like a shepherd’ (in the words of Nelson Mandela)?

	Mandela thought leading from the back was the best approach – that is, letting people show initiative and talent (and only rounding them up if necessary)






	How might an autocratic leader learn to be more democratic?

	By absorbing the lessons of the Continuum, and seeking a training course designed to encourage more consultative, and then more democratic behaviours
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Evaluation: Managers, leadership and decision-making


The business writer Robert Townsend suggested that many newly appointed leaders ‘disappear behind the mahogany curtain’ and are rarely seen again by staff. He thought that ‘finally getting to the top’ made many leaders focus more on corporate luxuries (‘Which jet shall we buy?’) than on hard work. Yet he knew that great leaders can make a huge difference to long-term business performance. He advocated a leadership model based on extensive delegation within tight, agreed budgets. Many follow that model today.


Ultimately, judging a leader takes time. The media may find a new ‘darling’ – perhaps someone who looks and sounds great on TV. That person’s achievements may be praised hugely, and they may win ‘Business Leader of the Year’ awards and a Knighthood. Yet it will be several years before anyone outside the business can appraise the individual’s performance. In most businesses it is easy to boost short-term profit: you push prices up here, and make redundancies there. This persuades the media and the shareholders that you are a fine leader. The real question, though, is whether your decisions will push the business forwards or backwards over the coming years. Hold back from rushing to praise (or condemn) a boss on the basis of short-term performance. Big business is a long game. Ninety minutes is a long time in football; a week is a long time in politics; five years is a long time in business.
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Workbook


A. Revision questions


(40 marks; 40 minutes)





1. Distinguish between autocratic and paternalistic leadership.


(4)



2. Outline two types of democratic leadership.


(4)



3. Outline one advantage and one disadvantage of an autocratic leadership style.


(4)



4. Explain why autocratic leaders may be of more use in a crisis than democratic ones.


(4)



5. Many managers claim to have a democratic style of leadership. Often, their subordinates disagree. Outline two ways of checking the actual leadership style of a particular manager.


(4)



6. How may a paternalistic leader set about generating a clear vision for a business?


(4)



7. In your own words, explain what Peter Drucker meant by saying: ‘Managers do things right; leaders do the right thing’.


(4)



8. A consultancy called Stellar Leadership has a questionnaire for managers to test out where they are on the Tannenbaum and Schmidt Continuum.







    Read this multiple choice question then answer parts a-d below:





Choose one of the following:





i. As a general rule, I do not delegate



ii. I delegate occasionally, but when I do I follow up carefully



iii. I delegate regularly, to individuals who have demonstrated that they can handle it.



iv. I use delegation as a means of developing new skills in my people.







    a) Explain what is meant by the Tannenbaum and Schmidt Continuum.


(3)


    b) What leadership style would you associate with people who choose answer (i).?


(1)


    c) Explain which part of the Tannenbaum and Schmidt Continuum you would associate with answer (iii).


(4)


    d) How effective do you think multiple choice questions might be at assessing managers’ leadership styles? Explain your answer.


(4)





B. Revision exercises


DATA RESPONSE


Curry Karma


Bangalore Balti (BB) started as a small curry house in Leicester. Word of its fresh, fiery food spread rapidly, creating the opportunity for expansion. By 2011 BB had 12 outlets across the Midlands, each run by a member of the owner’s family. With plenty of cash in the bank, owner Safiq bought another chain of 16 Indian restaurants and converted them to the Bangalore Balti concept. This pushed the business into needing bank loans, which became a burden at a time when household spending was being held down by falling real incomes.


While Safiq was focusing on the financial pressures, things were slipping operationally. In particular, the managers of the 16 new restaurants showed less respect for the BB menu and seemed much less able to keep costs down and therefore profit margins up. It was also noticeable that labour turnover was higher in the new restaurants than in the original ones.


As the business came to the end of 2014 its profits were below those of four years earlier (See Table 6.3). It was getting hard to pay the interest bills on the loans. Something had to change.
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Questions (25 marks; 35 minutes)





1. Explain one internal pressure and one external pressure for change at Bangalore Balti.


(6)








2. a) Analyse how Safiq might set about deciding how to change the business in 2015.


(10)


    b) Analyse two problems faced by Safiq.


(9)





C. Extend your understanding





1. To what extent does autocratic leadership have a place in today’s business world?


(20)



2. ‘Great leaders are born, not made.’ To what extent do you agree with this view?


(20)



3. Discuss whether it can ever be right to pay a business leader 1,000 times more than the lowest paid in the organisation.


(20)
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Chapter 7 Decision-making: scientific and intuitive
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Linked to: What managers do, Chapter 5; Decision trees, Chapter 8; Marketing and decision-making, Chapter 11.
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Definition


Most decisions in business are based on hard, probably numerical data and are therefore scientific. Some of the most important, though, are intuitive – a combination of experience and a feel for the future.
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7.1 Introduction


Modern managers like to be able to base a decision on numerical evidence. As a consequence, more and more tactical decisions are made by computers. For example, a McDonald’s store manager is sent details of how many staff should be employed every hour for next Saturday. The computer makes the ‘decision’ based on a sales forecast using data from last year and recent weeks. In this way the decision-making can be ‘scientific’ – in the sense that it is based on objective, numerical data – as opposed to hunch or intuition.
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‘It is a capital mistake to theorize before one has data. Insensibly one begins to twist facts to suit theories, instead of theories to suit facts.’ Arthur Conan Doyle, aka Sherlock Holmes.
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When the decision is more strategic, by definition there will be more uncertainty. When Whitbread plc decided to buy Costa Coffee, it couldn’t know that it would be able to build the business from 50 outlets to 3,000 (including 350 in China). So computer programmes can’t punch out answers. Therefore there is a far greater need for intuition. Whitbread made a brilliant call; Morrisons’ made a disastrous one when it bought online site Kiddicare for £70 million in 2011 and sold it for £2 million in 2014!


Scientific decision-making is the goal for most firms because it suggests a method that can be applied in a routine way to measure opportunities or problems. When considering whether to launch a proposed new product, large companies like to have a testing system that they can use for every proposal. Then, over time, enough data is gathered to start to make accurate forecasts.
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‘Market research will always tell you why you can’t do something. It’s a substitute for decision-making, for guts.’ Laurel Cutler, US business person
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Real business


The Grocer magazine regularly features independent research into new product launches using a system called Cambridge Fast Foodfax. It uses various quantitative measures to test the likelihood of sales success. From the answers to those questions a rating score is devised. A look at the data below shows why Marks & Spencer felt optimistic about sales of their new lemonade.
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On these measures experience has shown that a score of 45+ shows a product of huge potential. Between 40 and 44 also shows promise. This approach enables big firms to scrap unpromising new products before taking them to market.
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7.2 Scientific decision-making


The desire for a scientific approach to management dates back, at least, to F.W. Taylor and the late 19th century. Taylor wanted managers to find the ‘one best way’ to do things and then instruct and incentivise workers to follow that one best method. Taylor believed in ‘time and motion’ studies that measured exactly how and when workers completed certain tasks. He also advocated high division of labour, forcing staff to do simple, repetitive tasks in the workplace. With simple tasks came ease of measurement and from there it was only a short step to the business saying ‘measurement is management’. In other words, once you start measuring things in the workplace, staff pay more attention and start behaving differently.


Today managers still want to control business variables, from absenteeism to morale. They also want to control external variables as much as possible. So sales are forecast with great precision and computer software is used to model every foreseeable situation, for example an August bank holiday with cloudy but not rainy weather. Scientific management tries to take the art out of business decision-making – replacing intuition with facts and quantitative forecasts.
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‘Whenever decisions are made strictly on the basis of bottom-line arithmetic, human beings get crunched along with the numbers.’ Thomas Horton, US business leader
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‘The best class of scientific mind is the same as the best class of business mind. The great desideratum in either case is to know how much evidence is enough to warrant action.’ Samuel Butler, British novelist (1835–1902)
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7.3 Risk, reward and uncertainty


Uncertainty is the natural state of affairs in businesses where many external factors affect sales and costs. The number of variables makes it impossible to predict what will happen (though some will try, taking their fees prior to the timescale of their predictions). Uncertainty does allow conclusions to be drawn, however. In an uncertain world a business needs a wide-enough range (portfolio) of products to be sure that one flop will not hit the business too hard.


Risk may be quantifiable, at least in some broad ways. If only 1 in 8 Hollywood films brings in more revenue than the cost of making it, it is reasonable to gauge the risk of lossmaking as 7/8 for future films. Then the risk must be set against the potential rewards. With movies, the rewards may be spectacular. E.T. the Extra-Terrestrial is believed to have made a 7,000 per cent return; the Blair Witch Project a profit of 414,000 per cent!
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For some companies, including those with weak financial positions, low-risk projects are the only ones to consider, even if the returns are quite low too. Other firms are willing to take bigger gambles, figuring that a few failures is not a problem as long as the occasional success proves to be a big one.


7.4 Influences on decision-making





1. Mission. Good business decisions are those that contribute towards the mission of the organisation. This may mean taking decisions that go against the company objectives, perhaps because ethics come into play. So even if a company’s 12-month objective is to boost market share from 26 per cent to 29 per cent, it may be ethically wrong to launch a product that attracts consumer interest but is against the consumer’s best interests. So a mission such as Google’s (‘Don’t be evil’) should ensure that greed for profit does not take precedence over the interests of customers.



2. Objectives. For middle managers intent upon promotion prospects, decision-making is focused on the objectives they have been set. If directors want rising market share, managers will do all they can to deliver. An important factor to consider, though, is the timescale involved. Rising short-term market share can easily be achieved by deciding on price and other sales promotions. Yet this may be at the cost of long-term success. In 2013 Huggies disposable nappies were withdrawn from the UK market, even though sales had been above £100 million a year. The reason was that regular price discounting had undermined the brand. In effect, the company accepted defeat against Procter & Gamble’s Pampers. Directors need to be careful to avoid encouraging short-termism. Well-run businesses always look to the medium-long term when setting their objectives. That ensures decision-making based on the true best interests of the company.



3. Ethics. Ethics enter business decisions when they form part of the scientific appraisal of risk and reward. If Marks & Spencer saw a sales opportunity for a ‘super-indulgent chocolate moussecake’ containing 1,000 calories, the risk of bad publicity would be taken into account. But when you scan the shelves of the store, or queue at a checkout alongside many tempting sweet treats you realise that M&S sells masses of spectacularly fattening foods. No one within the business is saying ‘no, we really shouldn’t be doing this’.







    With smaller, family-run businesses the same may not apply. If the family wishes to sell fruitcake but not chocolate cake, it can do so. It can allow a decision to be based purely on ethics. For a large, publicly-owned company, that is not a realistic possibility. Public company shareholders want dividend income and to see a rising share price. Putting ethics before profit would find little favour.
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Real business


In 2012 a prominent sponsor of the London Olympics was Coca-Cola. To create ‘social value’ from this expenditure, Coca-Cola worked with the charity StreetGames to get 110,000 youngsters participating in sport. Good though that may be, what about the ethics?


In Mexico 70,000 die each year from diabetes. Mexicans are the fattest people in the world and also drink more Coca-Cola per head than anyone else. When a tax was proposed in Mexico on the sugar in soft drinks, Coca-Cola bottlers warned that 20,000 jobs could be lost. This opposition chimed with the Mexican soft drinks’ trade association’s hostility to the tax.


So, on reflection, how can one view the aid for StreetGames as anything other than a marketing decision? Ethics do not really enter the Coca-Cola corporate mindset.
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4. The external environment, including competition. Big strategic decisions must be rooted in the economic, social, competitive and consumer environment of the time and, even more importantly, of the future. When Domino’s Pizza began in 1960, it was not clear to everyone that home-delivery was going to become the dominant way of supplying consumers’ love of the product. But founder Tom Monaghan saw through the competition from Pizza Hut and from supermarket cook-at-home pizzas, focusing on home delivery. Today Domino’s is the world’s biggest pizza delivery company, with sales of more than $1,000 million a year.







    Of all the economic, social and technological aspects of the external environment, none is more important than trends in consumer taste. In 2014 profits at Gillette fell by 17.5 per cent as its male shaving products struggled because of a fashion towards stubble. Less shaving meant less profit. No amount of clever marketing could make up for that.


    Another key factor is competition. The issues are twofold: first, how intense is the competition; and second, is that intensity changing? When Scoop ice cream opened in Covent Garden in 2007 it was the first artisan gelato-maker in Central London. According to Time Out magazine August 2014 there are now 22! Three, it is true, are Scoop outlets, but that still leaves 19 competitors. Naturally that makes it harder to run a comfortably profitable business.



5. Resource constraints. Before making a business decision it is crucial to have considered the resource implications. A restaurant chain can only decide to open 20 more stores in the coming year if it has enough capital and the right amount of management talent. Any attempt to expand with insufficient resources is likely to lead to ‘overtrading’ – expanding more rapidly than your resource-base allows.
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Five Whys and a How






	Question

	Answer






	Why is the scientific approach to decision-making easier for tactical than for strategic decisions?

	Because tactical decisions are more limited in their scope and effect, often stemming from regular, predictable issues such as a shop asking how many kilos of strawberries are needed for next Saturday?






	Why is uncertainty a bigger worry for firms than risk?

	Because risk can often be calculated and therefore brought into the decision-making process.






	Why might middle managers be inclined to make decisions based on short-term criteria?

	Because they are focused more on their next career step than on the long-term best interests of the whole business.






	Why might a scientific decision prove wrong?

	Either incomplete data were gathered or the interpretation of the data must have been faulty.






	Why might a firm’s objectives be out of alignment with its mission?

	Mission is often influenced by ethics that are more ambitious than the duller, perhaps profit-focused objectives.






	How can a firm make sure it takes decisions scientifically?

	By gathering as much numerical evidence as possible and weighing it up using a standardized method such as decision trees (see Chapter 8).
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Evaluation: Decision-making: scientific and intuitive


Good decisions are those that look good (or even obvious) some time later. They are likely to be made in a collaborative way, using the knowledge and wisdom of the more junior staff who are in day-to-day contact with customers. Of course, if the plan is to make a decision scientifically, the views of staff must be used as part of a calculation (in effect, an equation) that carefully sets the risks out against the rewards.


A training director called Donald Bullock once said that ‘Most of our executives make very sound decisions. The trouble is many of them have turned out not to be right.’ This sums up scientific decision-making in particular. The method for making the decision may be perfect but ultimately all that matters is that the decision is right. As shown in Table 7.1, in business there’s scope for making huge, multi-million pound decisions. Good executives manage to get the big decisions right most of the time.
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Key terms


Intuition: judgement made on qualitative criteria, perhaps experience and strength of market understanding, or perhaps little more than guesswork.


Short-termism: a widespread tendency within a business to focus on short-term results, probably at the cost of long-term success.


Strategic decision: one that is made in circumstances of uncertainty and where the outcome will have a major impact on the medium- to long-term future of the organisation.


Tactical decision: deciding what to do in circumstances that are immediate (short term) and where a mistake is unlikely to have a major impact on the business.


[image: ]







[image: ]


‘Participative management is, simply stated, involving the right people at the right time in the decision-making process.’ Wayne Barlow, administrator, Federal Aviation Authority
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Workbook


A. Revision questions


(30 marks; 30 minutes)





1. Explain why intuition may be more important for a strategic decision than for a tactical one.


(4)



2. For each of the following decisions, outline whether you believe it to be tactical or strategic. If there is some uncertainty, explain why.







    a) Deciding whether to give an order to supplier A or B.


(2)


    b) Deciding whether to move head office from London to New York.


(2)


    c) Deciding whether to employ full-time only staff, or whether to go for part-timers.


(2)


    d) Deciding whether to put the Bolton FC season ticket price up from £600 to £720.


(2)








3. Identify three factors that might undermine the accuracy of the data used in a scientific decision.


(3)








4. a) What is meant by the term ‘business ethics’?


(2)


    b) Why may the desire for high ethical standards conflict with the rewards anticipated from a decision?


(5)








5. Based on your best understanding of the current economic position, comment on its possible effect on:







    a) the likely revenue and profit trend at Poundland.


(4)


    b) the sales prospects for the newly launched Amira Superior Aromatic Rice, which is priced 50 per cent higher than usual brands.


(4)





B. Revision exercises


DATA RESPONSE


Big decisions at Tesco


After his predecessor left in July, new boss Dave Lewis had a few months before starting as Tesco Chief Executive (CEO) in October 2014. This gave him time to think about how to turn the business around. For five years Tesco’s market share had been struggling in the UK. But at least it was profitable. Many of its overseas operations were losing money.


Dave Lewis was brought in from outside Tesco, with a strong career at giant Unilever. Lewis was the boss of Unilever’s Personal Care division, with annual sales of more than £15 billion (and brands such as Dove and TRESemmé). Before that he had many jobs around the world in a 27-year career with the multinational.


To commentators, Lewis had five main issues to deal with as soon as possible:





•  The Tesco brand image, which has been hit hard in the UK



•  The perception that Tesco is a relatively expensive store (borne out by The Grocer’s weekly ‘pricecheck’)



•  Tesco’s falling market share in the UK (from 31.2 per cent at its peak to 28.9 per cent by July 2014. NB Each 1 per cent is slightly over £1 billion of sales)



•  A series of problems in Tesco’s international store portfolio, with sales and profit seeming to struggle post-recession



•  More than anything else, should Tesco have all its cost-drivers hacked back to the minimum (scrap Clubcard and so on), in order to take on Lidl and Aldi at the price game?





Questions (30 marks; 35 minutes)





1. Dave Lewis will have to make some big decisions quite soon. Is it a strength or a weakness that he’s an outsider to Tesco? Explain your reasoning.


(5)



2. Choose one of the five issues outlined and explain why this should be tackled first.


(9)



3. To what extent would a scientific approach to decision-making help Dave Lewis in the early months of his new job?


(16)





C. Extend your understanding





1. To what extent may there be problems when decision-making is based on clear objectives, but unclear resource constraints?


(20)



2. To what extent can the decisions made by a multinational oil company such as Shell or BP ever be considered ethical?


(20)
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Chapter 8 Decision trees
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Linked to: What managers do, Chapter 5; Decision-making: scientific and intuitive, Chapter 7.


[image: ]







[image: ]


Definition


Decision trees are diagrams that set out all the options available when making a decision, plus an estimate of their likelihood of occurring.
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8.1 Introduction


Decision trees provide a logical process for decision-making. The decision problem can be set out in the form of a diagram, like a tree on its side. It can take into account the occasions when a decision can be taken and the occasions when chance will determine the outcome. Chance can be estimated by assigning a probability, such as 0.2 (a 1 in 5 chance). While the estimate of the probability may sometimes be a guess, at other times there may be a logical basis. In the past, the chance of a new product launch surviving two years was 1 in 5, therefore it would be fair to give the probability of success for a new launch at 0.2.
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‘Compromise is usually bad … listen to both sides then pick one or the other.’ Robert Townsend, author Up the Organisation (1920–1998)
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8.2 Step-by-step approach to decision-tree analysis


Step 1: the basics





1. The tree is a diagram setting out the key features of a decision-making problem.



2. The tree is shown lying on its side, roots on the left, branches on the right.



3. The decision problem is set out from left to right with events laid out in the sequence in which they occur.



4. The branches consist of:







    a) a decision to be made, shown by a square (see Figure 8.1)
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    b) chance events or alternatives beyond the decision-maker’s control, shown by a circle – a node (see Figure 8.2).







[image: ]




Note carefully that a square means a decision and a circle means a chance event, that is, one of two or more events may follow. Therefore:





•  there must be a probability attaching to each of the chance events or alternatives



•  these probabilities must add up to 1 as one of them must happen.





In Figure 8.2, the decision-maker has allowed for an 80 per cent (0.8) chance that the robot will work well and a 20 per cent (0.2) chance that it will prove unreliable. These figures could be arrived at from experience with robots in the past.


At any square, the decision-maker has the power to choose which branch to take, but at the circles chance takes over. You can choose whether or not to invest in a robot. But there is a chance that the robot may prove unreliable. The full tree so far is shown in Figure 8.3.
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The decision-maker will choose which branch provides the better or best value.


If buying costs a net cash outflow of £1,000 per year while hiring costs £800, it is better to hire (see Figure 8.4).
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Note that the branch not taken is crossed out, as shown in Figure 8.5.
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Step 2: drawing a decision tree


Bantox plc must decide whether to launch a new product (see Figure 8.6).
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Research suggests there will be a 70 per cent chance of success in a new product launch. This would be shown as a probability of 0.7 (see Figure 8.7).
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Note that, because probabilities must add up to 1, the implied chance of failure is 0.3.


To make a decision based on the tree above, estimates are needed of the financial costs and returns. In this case, let’s assume:





•  the new product launch will cost £10 million



•  a new product success will generate £15 million of positive net cash flows



•  a new product failure will generate only £3 million



•  no launch means no movements in net cash.





The full decision tree now looks like Figure 8.8.
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Step 3: making calculations


At each probability circle, a calculation is required of the average outcome, given the probabilities involved. If a launch costing £10 million will generate either £15 million or £3 million, what will be the average result, if the same circumstances happened several times over? Sometimes the firm would get £15 million and sometimes £3 million. Usually, to work out an average, you would add the numbers and divide by 2; that is:
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That assumes, though, that there is an equal chance of £15 million and £3 million. In fact, the probabilities are not 50/50, they are 70/30. There is a 70 per cent chance of £15 million. So the correct (weighted) average expected value is:
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In decision trees, the expected values at probability circles are always calculated by weighted averages.


Calculations on decision trees are carried out from right to left, that is, working backwards through the tree, making calculations at each probability circle.


In the case of Bantox, only one calculation is needed. If there are several circles, it is helpful to number them, and show your weighted average calculations clearly (see Figure 8.9).
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Step 4: showing your decisions


Having calculated the expected value (weighted average) at each probability circle, a rational decision can be made. As Figure 8.9 shows, launching the new product will, on average, turn £10 million into £11.4 million; that is, generate a net gain of £1.4 million. Therefore it is preferable to launch. The decision to launch is indicated by crossing out the ‘don’t launch’ option.


8.3 Summary of key points


A decision tree is a diagrammatic presentation of a problem involving decisions (squares) and chance events (circles).





1. The problem is laid out from left to right. Decisions are shown as squares, chance events as circles.



2. Each chance event has a probability estimated for it. The probabilities must add up to 1 since one of them must happen.



3. Two money values are shown:







    a) the cost of the decision (shown as a negative number, that is, in brackets)


    b) the benefit or cost of a specific outcome occurring. These are shown at the end of each branch of the tree.








4. Working from right to left, the decision-maker calculates the expected value at each circle. These values are calculated by multiplying the money value by the probability, then adding the results.



5. Still working from right to left, the decision-maker decides at each square which branches to cross off, leaving only the better or best alternative open.





8.4 Advantages and disadvantages of decision trees


Advantages of decision trees





1. The most important advantage of the technique is allowing for uncertainty. The most common technique for business decision-making is investment appraisal. This is based upon a single forecast of future cash flows, giving a bogus impression of certainty. In reality, every decision can result in a range of possible outcomes, not just one. The decision tree allows for this. By focusing firms on uncertainty, decision trees can help to ensure that managers make more carefully considered decisions.



2. Decision trees also demand that managers consider all the possible alternative outcomes. Although it is important to be single-minded, too many managers adopt a strategy without fully considering the alternatives. They perhaps choose the approach that worked the last time, or the one adopted by their competitors. Decision trees not only encourage careful consideration of the options, but also require an estimate of the actual outcome for each. This allows ‘best-case’ and ‘worst-case’ scenarios to be costed and considered.





Further advantages of decisions trees are set out below.





1. Decision trees set out problems clearly and encourage a logical approach. The discipline of setting out the problem in a decision tree requires logical thinking and can also generate new ideas and approaches.



2. Decision trees encourage a quantitative approach and force assessments of the chances and implications of success and failure.



3. Decision trees not only show the average expected values for each decision but also set out the probability of a specific outcome occurring.



4. Decision trees are most useful when similar scenarios have occurred before, so that good estimates of probabilities and predicted actual values exist.



5. Decision trees are most useful in tactical or routine decisions, rather than strategic decisions.





Disadvantages of decision trees


All quantitative methods can be biased, consciously or unconsciously. Optimism is often a virtue in an executive, but it may lead to exaggerated sales figures or excessively high probabilities for success. This does not mean quantitative methods should be rejected. Only that it is sensible to ask who provided the figures and assess whether they had any reason to want a particular outcome. Cynicism about decision trees is out of place; scepticism is wholly valid.
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‘We should never allow ourselves to be bullied by an either-or. There is often the possibility of something better than either of these two alternatives’. Mary Parker Follett, business writer (1868–1933)
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Further disadvantages of decision trees are set out below.





1. It may be difficult to get meaningful data, especially for estimated probabilities and of success or failure.



2. Decision trees are less useful in the case of completely new problems or one-off strategic problems.



3. It can be relatively easy for a manager seeking to prove a case to manipulate the data. A biased approach to the estimated probabilities or values could ‘prove’ a pre-desired result rather than a logically determined outcome.



4. Decision trees do not take into account the variability of the business environment.



5. Decision trees may divert managers from the need to take account of qualitative as well as quantitative information when making a decision.
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Evaluation: Decision trees


Small firms run by one person benefit from clear, speedy decision-making. The entrepreneur knows the customers, the competition and the staff. Therefore he or she can make effective decisions quickly, with no need to justify them to others. Some may prove faulty, but the quick responses of a small firm should ensure that damage is limited. The business will stand or fall on the hunches and judgements of the boss.


In large firms, the same rules do not apply. A successful career path at a company such as Mars or Unilever often depends upon avoiding mistakes. Therefore it is important to be able to justify why a decision was made. Even if it proves to be wrong, that should not matter as long as the method for making the decision was thorough and analytic. After all, if four out of five new products prove to be failures, what would be the reason for firing a manager who has just launched a flop?


It can be a matter for regret that methods such as decision trees are used to ‘protect the back’ of decision-makers. In other words, they may not be valued for themselves, only for their value as a protector. Often, though, the process of trying to protect themselves encourages managers to think hard about their decision-making methods. Those who use decision trees positively may find an improvement in their record of success, and help the big firms to compete with the faster moving small firms.
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Five Whys and a How






	Question

	Answer






	Why may decision tree analysis be more useful than investment appraisal?

	Because it takes into account alternative possible outcomes and the probability of them occurring (investment appraisal is misleadingly ‘certain’)






	Why are expected values calculated using a ‘weighted’ rather than a straight average?

	Because it is the only way to gain accuracy when there are different probabilities of your possible outcomes occurring






	Why may the decision tree technique be useful even if you have no sound basis for estimating the probabilities?

	The tree diagram will still indicate the best and worst possible outcomes - a vital part of decision-making (if the worst outcome would threaten the firm’s survival, you’d say no)






	Why may there be dangers in the apparent ‘scientific’ precision of the decision tree technique?

	People may assume that the technique delivers more accuracy than is true given the degree of estimation involved






	Why may decision trees risk sidelining qualitative factors?

	Because people are swayed by a ‘definite’, numerical ‘answer’ to a problem – so they subconsciously play down qualitative factors






	How are calculations done after the decision tree is drawn up?

	Working back from right to left, calculating the weighted average at every chance node then cutting off the less profitable decisions
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Key terms


Actual values: although known as ‘actual values’ or ‘payoffs’, these are the forecasts of the net cash flows which result from following a sequence of decisions and chance events through a decision tree. They should always be shown at the ends of the branches of the tree.


Node: a point in a decision tree where chance takes over. It is denoted by a circle, and at that point it should be possible to calculate the expected value of this pathway.


Expected values: these are the forecast actual values adjusted by the probability of their occurrence. Although called ‘expected’, they are not the actual cash flows which result. Expected equals actual × probability.


Net gains (or losses): subtracting the initial outlay from the expected value to find out whether or not a decision is likely to produce a surplus.


Probability: the likelihood of something occurring, usually expressed as a decimal (for example 0.5). The probability of something certain is 1. The probability of something impossible is zero.
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Workbook


A. Revision questions


(30 marks; 60 minutes)





1. When drawing a decision tree, what symbol is used to show:







    a) when a decision must be made?


    b) when chance takes over?


(2)








2. If the probability of the successful launch of a new product is estimated to be 0.72, the probability of a failed launch must be 0.28. Explain why.


(3)



3. State whether each of the following is a decision or a chance event:







    a) choosing between three different new product options


    b) a new product succeeding or failing in the marketplace


    c) good weather on the day of the open air concert


    d) whether to advertise or to cut the price.


(4)








4. Explain the difference between an expected value and an actual value.


(3)



5. State three advantages and three potential pitfalls of using decision trees.


(6)



6. Explain the circumstances in which decision trees are least useful.


(4)



7. If the chance of achieving £200,000 is 0.2 and the chance of £20,000 is 0.8, what is the expected value of a decision?


(4)



8. Explain how decision trees may help managers to assess the best decision by ‘what if?’ analysis.


(4)





B. Revision exercises


DATA RESPONSE 1


Look at the tree diagram below and answer the following questions.


Questions (20 marks; 20 minutes)





1. Calculate the expected values at nodes 1–4.


(12)



2. State your decisions at decision points A–C. Indicate your decisions on the tree diagram.


(8)
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DATA RESPONSE 2


Denham Potteries has a capital spending budget of £100,000. The production manager has put in a bid for £100,000 for a new tunnel kiln. The marketing manager has countered with a proposal to spend £80,000 on launching a new product. This new product is in line with the firm’s objective of diversifying but may be rather risky given the firm’s past record of only one success for every five new products.


Ken Coton, the marketing manager, has provided a handy table of figures to summarise the information. This is set out in Table 8.1
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Questions (25 marks; 30 minutes)





1. Draw a fully labelled decision tree to set out the options.


(10)



2. What decision should the firm make on purely numerical grounds?


(3)



3. Outline the qualitative factors the board should take into account before making the decision.


(12)





DATA RESPONSE 3


Mansfield Town FC is considering buying a South American centre forward player for its team. The club knows statistics show that only one in four overseas forwards succeeds in the lower divisions. But things are desperate. The player’s contract will cost £500,000 and, if successful, could increase home attendances sufficiently to be worth £1.2 million over the three-year contract. Even if the player is unsuccessful, income from attendances should rise by £200,000.


Questions (20 marks; 15 minutes)





1. Draw the decision tree and label it carefully.


(12)



2. On the basis of the tree, what decision should the club take?


(4)



3. Outline two reasons why the club might decide to proceed.


(4)





C. Extend your understanding





1. Whitbread plc made the brilliant decision in 2000 to move out of the beer market and concentrate on coffee (Costa) and hotels (Holiday Inn). To what extent can decision trees be useful when making long-term strategic decisions such as these?


(20)



2. A brilliant fashion designer has been made Chief Executive of Burberry plc. This is a business worth over £1 billion in revenue and in share value. To what extent will the new chief executive’s decision-making be improved by using decision trees?


(20)
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Chapter 9 Opportunity cost and trade-offs
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Linked to: Understanding the nature and purpose of business, Chapter 1; Decision-making: scientific and intuitive, Chapter 7.
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Definition


Opportunity cost is the cost of missing out on the next best alternative when making a decision. For example, the opportunity cost of not going to university may be to risk missing out on £200,000 of extra lifetime earnings (according to 2013 Government data). Similarly, trade-offs look at what you have to give up in order to get what you want most. They may not easily be expressed as a ‘cost’ (that is, it may not be possible to quantify them).
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9.1 Introduction to opportunity cost


This concept will be useful throughout the A-level Business Studies course. It is at the heart of every business decision, from small to multinational companies. Every business faces the same issue: limited resources mean that hiring a marketing manager leaves less money to spend on a marketing campaign. For a start-up business, spending lots of money on a flash opening party means there is less money to pay for staff training.


For a new business the two most important resources are money and time. Both have an opportunity cost. Time spent by an entrepreneur creating a pretty website could mean too little time left for recruiting and training staff, or too little time to sit back and reflect on priorities. The same issue arises with money: it can only be spent once.


It follows that every business decision has an opportunity cost, measured in time, money, and often both. The same is true in other walks of life. A prime minister focused on foreign adventures may lose sight of the key issues affecting people at home. A chancellor who spends an extra £10 billion on education may have to cut back on health care.


For a new business start-up, the most important opportunity cost issues are as follows.





•  Do not tie up too much capital in stock (inventory), as this cash could be used more productively elsewhere in the business.



•  Do not overstretch yourself: good decisions take time, so make sure you are not doing too much yourself.



•  Take care with every decision that uses up cash; at the start of a business it is hard to get more of it, but more is always needed.





9.2 Opportunity costs in developing a business idea


Personal opportunity costs


Starting your first business is likely to be tough. Long hours and highly pressured decisions may cause stress, but the biggest problems go beyond psychology. A difficult cash-flow position is quite normal, yet places a huge strain on the business and its owner(s).


The owner of a first business will probably have come from a background as a salary earner, possibly a very well-paid one. So the first opportunity cost is missing out on the opportunity to earn a regular income. As it could take six months or more to get a business going, this is a long period of financial hardship.


Then comes the investment spending itself, such as the outlay on a lease, on building work, on fixtures and fittings, on machinery and then on the human resources (staff) to make everything work with a human face. All this uses money that could otherwise be used on the proprietor’s house, holidays, and so on. The personal opportunity costs add up massively.


Business writers often use the term ‘stakeholders’, which means all those with a stake in the success or failure of a business. Usually, the key groups are those within the business (internal stakeholders), such as staff, managers and directors; and outside groups (external stakeholders), such as suppliers, customers, bankers and shareholders. In the case of a business start-up, however, there is a whole extra consideration: the wear and tear on the family. Starting a business is a hugely time-consuming and wholly absorbing activity. The restaurant owner might easily spend 80 hours a week on site in the early days, then take further paperwork home. An American business psychologist has said that, ‘even when you are home, you’re still thinking about the business – it’s easy for a spouse to feel neglected, even jealous’.


Despite this, research by a US investment business has shown that, although 32 per cent of new entrepreneurs said that the experience had caused marriage difficulties, 42 per cent of chief executives in fast-growing new firms said that the pressures and exhilarations made their marriages stronger.
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‘Perpetual devotion to what a man calls his business is only to be sustained by perpetual neglect of many other things.’ Robert Louis Stevenson, writer
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9.3 Deciding between opportunities


Successful business people are those who can make successful decisions. The three founders of innocent Drinks wanted to start a business together, but had no idea what type of business to start. As friends at university they had already run nightclub events together, and two ran an annual music festival in West London. They could have developed a successful festival business, but stumbled upon the idea of a business that made all-fruit smoothies. On finding an investor, in 1999, who could help turn their dream into a reality, they left their salaried jobs, gave up their other business opportunities and concentrated on building the innocent brand. The 2010 sale of a majority of the innocent shares to Coca-Cola for £75 million showed the success of this start-up.
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‘Alice came to a fork in the road. “Which road do I take?” she asked.


“Where do you want to go?” responded the Cheshire cat.


“I don’t know.” Alice answered.


“Then” said the cat “it doesn’t matter.”’ Lewis Carroll, Alice in Wonderland
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When deciding between business start-up opportunities, certain factors are crucial:


Estimating the potential sales that could be achieved by each idea


This is hugely difficult, both in the short term and – even more – in the longer term. Smoothie maker innocent’s first-year sales were £0.4 million. Who could have guessed that, eight years later, its sales would be more than 300 times greater? Yet estimates must be made, either by the use of market research, or by using the expertise of the entrepreneur. Mike Clare of Dreams had previously worked as an area manager for a furniture retailer, so he had a reasonable idea about what the sales might be. Inside knowledge is, of course, hard to beat.
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Real business


The opportunity costs of developing one business idea as opposed to another


When 30-year-old Mike Clare opened his first Sofa Bed Centre in 1985 he could raise only £16,000 of capital, even though his estimates showed that £20,000 to £25,000 was needed. Fortunately, hard work plus a great first month’s sales brought in the cash he needed to get the business going properly. At that time, none of the banks would lend him any money. In the lead-up to Mike Clare’s first store opening, he spent time organising public relations events (to get coverage in the local paper), helping with the building work, wrangling with suppliers over credit terms and making decisions about pricing and display. When the store opened, he spent 18 hours a day ‘doing everything’. When the first store took £30,000 in month one, he started looking for a second location, which was open within six months. Quite clearly, there was no possibility of starting more than one business at a time.


Later he built up a bedding business called Dreams, which he sold in 2008 for £170 million. Sadly, Dreams collapsed in 2013, in the aftermath of the great recession. Mike Clare, though, had turned £16,000 into £170m. Given how short of money he was at the start, it would have been impossible for him to have chosen to launch two different businesses at the same time. He had to choose one. Fortunately, he chose wisely.


Given the need for focus, the main opportunity cost arises when an entrepreneur has two ideas. One should be chosen and one rejected. This is possible if the entrepreneur is ruthless. After evaluating the two options carefully, the weaker of the two should be stopped completely. The reason is simple: opening one business is tough enough; two would be impossible.
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Considering carefully the cash requirements of each idea


The innocent trio were very lucky to find an American investor who put £250,000 into the start of the business in return for a 20 per cent stake. Some new businesses are very hungry for cash (such as setting up a new restaurant in London, which costs over £1 million); other new business ideas (such as a new website) can be started from a back bedroom, keeping initial costs very low.


Deciding whether the time is right


The innocent brand’s launch fitted wonderfully with a time of luxury spending and growing concern about diet. In the same year, a small business started in West London focusing on customising cars: ‘souping up’ the engines to make the cars go faster and give the engines a ‘throaty roar’. As rising fuel prices became a greater concern, the business was squeezed out. Five years before, it might have made a lot of money, but it no longer did so.


Deciding whether the skills needed fit your own set of skills


Running a restaurant requires a mix of organisational skills, discipline and meticulous attention to detail. Does that describe you? Or are you better suited to running an online business that can be handled in a relaxed way behind the scenes?


9.4 Trade-offs


In business there are many occasions when one factor has to be traded off against another. An entrepreneur might get huge help at the start from friends, yet realise that these same friends lack the professionalism to help the business grow. The needs of the business may have to be traded off against the friendships. Can a softie be a real business success? Probably not: some inner toughness is clearly important.


Other trade-offs may include:





•  when starting in the first place, trading off the start-up against a year’s international travel (perhaps with friends); or trading the start-up against going to university



•  trading off the aspects of the business you most enjoy doing against those that prove most profitable for the business. The chef/owner may love cooking yet find the business works far better when she or he has the time to mix with the customers, motivate the waiting staff and negotiate hard with suppliers



•  trading off time today and time tomorrow. The entrepreneur’s ambition may be to ‘retire by the time I’m 40’; that may sound great in the long term but, in the short term, her or his spouse and children may see little of them.





Overall, the key to success will be to be clear about what you and your family want from the business. It may be to become outrageously rich, no matter what, or – more likely – to find a balance between the freedom and independence of running your own business and the need to find time for the family. Books on business success assume that success can be measured only in £1,000,000s. Many people running their own small businesses would tell a different story; the independence alone may be the key to their personal satisfaction.
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‘Strategy is about making choices, trade-offs; it’s about deliberately choosing to be different.’ Michael Porter, business author/guru
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Five Whys and a How






	Question

	Answer






	Why is opportunity cost involved in every business decision?

	Because every decision commits resources that can then not be used for other things






	Why might an increase in interest rates be relevant to opportunity cost?

	Because spending on assets such as inventories or machinery requires taking cash out of the bank – and the higher the interest rate the higher the opportunity cost of that withdrawal






	Why might opportunity cost be especially important for a new start-up business?

	Because it will almost certainly have little spare capital and even less spare management time – so every wrong decision and every overspend has especially damaging knock-on effects






	Why is the projected £42.6 billion price of HS2 criticised both for the cost and for the opportunity cost?

	The cost is a problem at a time when Britain’s fiscal deficit remains huge; the opportunity cost can be measured in potential cutbacks in NHS, education or welfare spending






	Why is time the ultimate opportunity cost?

	Because although it’s easy to buy the time of lots of staff, there are usually only a few people in a business who make the important decisions, so their time is very limited and very valuable






	How might a firm value the opportunity cost of not launching a new product?

	Make careful estimates of all the revenues and costs involved in the project, then calculate the potential profit over its lifetime. That’s the potential cost of what you’re missing out on.
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Workbook


A. Revision questions


(20 marks; 20 minutes)





1. Explain in your own words why time is an important aspect of opportunity cost.


(3)



2. Give two ways of measuring the opportunity cost to you of doing this homework.


(2)



3. Examine one opportunity cost to a restaurant chef/owner of opening a second restaurant.


(5)



4. Explain the trade-offs that may exist in the following business situations. Choose the two contexts you feel most comfortable with.







    a) Levi’s pushes its workers to produce more pairs of jeans per hour.


    b) A chocolate producer, short of cash, must decide whether to cut its advertising spending or cut back on its research and development into new product ideas.


    c) A football manager decides to double the number of training sessions per week.


    d) A celebrity magazine must decide whether or not to run photos that will generate huge publicity, but probably make the celebrity unwilling to co-operate with the magazine in future.


(6)








5. Look at the quote on p. 56. What, according to Robert Louis Stevenson, is the opportunity cost of devotion to business?


(4)





B. Revision exercises


DATA RESPONSE 1


James Sutton had a job as a marketing manager paying £55,000 a year. His career prospects looked very good, yet he handed in his notice to start up his own online business. He knew that it would take him away from 9-to-5 work and towards the dedication of 8.00 a.m. to 9.00 p.m. If he took on a member of staff, the wage bill would rise by £16,000.


Questions (15 marks; 15 minutes)





1. Outline three opportunity cost issues within this short passage.


(6)



2. Analyse the possible impact on James of the increase in his workload.


(9)





DATA RESPONSE 2


In 2002 a co-operative agreement between coffee farmers in 250 Ugandan villages broke down. It had taken years to put together, but disagreements made it collapse. The prize for a successful co-operative was to produce organic coffee beans grown to Fairtrade standards for partners such as Cafédirect. This would ensure significantly higher prices for the raw coffee beans and also much better credit terms (being paid quickly to help with cash flow).


Over the next two years countless hours of work were put into forming a new co-operative. In early 2004 the new Gumutindo Coffee Co-operative was Fairtrade certified. By 2014 7,000 farmers had joined the Gumutindo Co-operative. They receive a guaranteed price of $1.26 per pound of coffee beans, whereas the world price has been as low as $0.80 over the previous eight years. The extra (and stable) income helps the farmers, of whom only 25 per cent have running water and 79 per cent live in mud huts with iron sheet roofing. The Fairtrade organisation has supported the co-operative in starting up its own production plant, converting the raw coffee into packs of coffee ready for sale. Ongoing investments include motorised pulpers and a major investment in solar panels to create electricity in the home as well as the production plant.


Sources: Adapted from www.fairtrade.org.uk and www.gumutindocoffee.co.uk


Questions (30 marks; 35 minutes)





1. What would be the opportunity cost of the farmers who put ‘countless hours of work into forming a new co-operative’?


(4)



2. Explain one risk for the farmers and one risk for the Fairtrade organisation in forming a new co-operative with high guaranteed prices for coffee beans.


(6)



3. Some commentators have suggested that Waitrose should make all its coffee ‘Fairtrade’, therefore getting rid of brands such as Nescafé Gold Blend. Outline the trade-offs Waitrose management would have to consider before making any such decision.


(4)



4. To what extent can one be sure that producing coffee ready-for-sale will increase the income levels of the 7,000 members of the co-operative?


(16)





C. Extend your understanding





1. Tesco plc has annual sales of £50 billion and operating profits of over £2 billion a year. To what extent does the leader of such a large business need to consider the concept of opportunity costs?


(20)



2. In the 1990s the chairman of Samsung started to send the company’s best and brightest young staff to live abroad for a year to learn about American and European lifestyles. Some directors complained that this was a waste of their time and talent. To what extent might the chairman be right to trade off management time against consumer knowledge?


(20)
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Chapter 10 Understanding the role and importance of stakeholders
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Linked to: Understanding the nature and purpose of business, Chapter 1; External factors affecting business, Chapter 4; Decision-making to improve financial performance, Chapter 44; Decision-making and improved human resources performance, Chapter 52.
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Definition


A stakeholder is an individual or group that has an effect on, and is affected by, the activities of an organisation.
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10.1 Introduction


All firms come into contact, on a daily basis, with suppliers, customers, the local community and employees. Each of these groups has an impact on the firm’s success and at the same time is likely to be affected by any change in its activities. If, for example, the managers decide to expand the business, this may lead to:





•  overtime for employees



•  more orders for suppliers



•  a wider range of products for consumers



•  more traffic for the local community.





Groups such as suppliers, employees and the community are known as the firm’s stakeholder groups because of their links with the organisation. A stakeholder group both has an effect on and is affected by the decisions of the firm. Each stakeholder group will have its own objectives. The managers of a firm must decide on the extent to which they should change their behaviour to meet these objectives. The belief is that a firm can benefit significantly from co-operating with its stakeholder groups and incorporating their needs into the decision-making process. Examples include:





•  giving something back to the community to ensure greater co-operation from local inhabitants whenever the business needs their help; for example, when seeking planning permission for expansion



•  treating suppliers with respect and involving them in its plans so that the firm builds up a long-term relationship
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‘Find the appropriate balance of competing claims by various groups of stakeholders. All claims deserve consideration but some claims are more important than others.’ Warren Bennis, business author
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Despite the benefits that are evident in a stakeholder approach, many managers believe that an organisation’s sole duty is to its investors (that decisions should be made in the best interests of shareholders alone). Generally, this means maximising shareholder value (for example, increasing the share price and the dividends paid to shareholders). Even company directors who instinctively want to serve all the stakeholders often find that day-to-day pressures force them to pay primary concern to shareholders’ interests – because shareholders are the only people with the power to get rid of the board of directors.


10.2 Stakeholder mapping


In 1991 Professor Mendelow devised a way of analysing the key stakeholders for a specific business. To do this he used the familiar matrix method to measure stakeholder power against stakeholder interest. For instance, if you run a strawberry farm supplying Tesco, your customer may have a huge amount of power over you, but not much interest in you. If you let them down Tesco will walk away and find another supplier. Within this theory there are four stakeholder categories; to help illustrate them, Tesco has been taken as the company whose stakeholders are to be analysed:





•  Low power, low interest: such as shareholders with holdings worth less than £750



•  Low power, high interest: such as Tesco shopfloor employees



•  High power, low interest: such as Tesco’s electricity supplier



•  High power, high interest: such as the local authorities in Welwyn Garden City (location of Tesco Head Office)





The details of which stakeholders fit which category and what actions the business might take to engage them are given in Figure 10.1:
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Despite the Tesco examples given above, it may be wrong to generalise at all about stakeholder mapping. The essence of the analysis is to assess the specific circumstances of particular businesses and only then decide which stakeholders fall into which category. So although most small shareholders have little interest in the business they ‘own’ (beyond the dividend and the share price), external shareholders in a business such as Mulberry might be both fashion-conscious and devoted to the company.


The value of this categorisation is that it helps in setting priorities. As shown in Figure 10.1, the company will work hardest to stay in constant communication with high power, high interest stakeholders.


10.3 Overlapping and conflicting stakeholder needs


Certain business circumstances may be to the advantage of all primary stakeholders. If, like Primark, your business concept is working successfully overseas, there are benefits to staff (promotion prospects), the board (bonuses), suppliers, shareholders, financiers and distributors. Even among external shareholders there are potential benefits to Inland Revenue and the wider community. Perhaps the only negative comments might come from environmental pressure groups.


Sadly, this is not often the case. All too often different stakeholders seem unable to stop themselves taking advantage of any weakness in others. In July 2014 Lloyds Bank was fined £105 million by the UK’s Financial Conduct Authority and ordered to pay the Bank of England £7.76 million. Lloyds had not only rigged markets but had also deliberately underpaid the British government for help given to keep Lloyds afloat during the tough days in 2009 and 2010. By attempting to benefit its shareholders at the cost of the government and the taxpayer, Lloyds’ executives were showing clearly where their stakeholder priorities lay.
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‘If you look after your customers and you look after your staff then shareholders will do very well … If you put shareholder interest – particularly short-term interest – first, you don’t create a business.’ Ian Gregg, who built Gregg’s from one shop to one thousand six hundred.
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10.4 Influences on the relationship with stakeholders


One influence is personal conviction; the boss of the business may reject the notion of stakeholders, believing instead that shareholders should be the board’s sole focus. If the firm tried to help the local community, for example, this would take funds away from the shareholders. Similarly, more rewards for the owners would mean fewer resources for employees. In the shareholder view, all these different groups are competing for a fixed set of rewards. If one group has a larger slice of the profits it leaves less for others.


Other possible influences on the relationship with stakeholders:





•  Financial pressure: if the business is struggling for survival it would be understandable to focus solely on the internal stakeholders – the ones who can help solve the problems.



•  The labour market: when jobs are plentiful, staff demand more pay, better working conditions and (sometimes) job redesign to make things more interesting. In these circumstances conflict between managers and workers is easy to conceive.
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Table 6.3 Data for Bangalore Balti 2011-14

2011(%)  2014(%)

Labour turnover in the 84 195
previous 12 months

Percentage of staff with 465 285
cooking skills

Operating profit margin in the 128 47
latest 6 months

Head office overheads per £ 84 293
of sales
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lable 4.1 Changes in the average household shopping basket
using the Consumer Prices Index

sr.oppi:;i basket Consu:;. Price
price (£s) Index 2005 = 100
2005 £402 100
2006 £411.25 1023
2007 £420.90 1047
2008 £436.20 1085
2009 £445.40 1108
2010 £460.30 1145
2011 £480.80 1196
2012 £49445 1230
2013 £506.90 12611
2014 £514.15 1279
2015 est £524.60 1305
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lable 4.2 Population changes predicted by the United Nations
in 2012 (ll figures in millions)

2013 2015 2050
Germany 83 81 73
UK 63 67 73
USA 320 351 401
Nigeria 174 240 440
Japan 127 123 108
China 1,386 1449 1,385
India 1,250 1,419 1620
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Hobot proves etfective from the start

Invest in a robot welder

Robot proves unreliable

02

Retrain existing staff
‘Do rothing’

Figure 8.3 Decision tree (3)
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Table 3.2

Supermarket Dividend ~ Forecast  Dividend
cover  dividend pershare

(last12  cover (next
months) 12 months)

Tesco 16 18 £0.15
Sainsbury's 21 18 £0.18
Marks & Spencer 19 19 £0.17
Morrisons’ -08 1 £0.13
Walmart (owns Asda) | 25 o7 $19

Source: Adapted fom The Telegraph 20 August 2014
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lable 7.2 Some good and some awtul real business decisions

Coca-Cola buys innocent
Drinks ~ giving it a real
competitor to PepsiCo's
Tropicana. The £200 million
deal was completed in 2013.

Waterstones bookshop
decides to stop selling

books online, because ‘online
will never be more than

10 per cent of the market!

In June 2000 Nick Robertson
and Quentin Griffiths launch ‘As
Seen on Screen, first year sales
are £3.6m. By 2014 ASOS' has
sales of £1,000 million.

Malcolm Walker, owner of
Iceland Frozen Foods, takes
the business upmarket -
focusing on organic
products. It didn't last.

Unloved Mondelez (owner of
Cadbury) launched Belvita
Breakfast Biscuits in 2010, The
Grocery trade laughed at the
idea, but by 2013 Belvita sales
had grown to £58 million -
that's more than Jaffa Cakes.

Rupert Murdoch, media
mogul,sells MySpace
website for $35m, having
bought it for $580m six
years before.

With recession biting Waitrose
launched ts ‘Essentials' range
of lower-priced groceries. By
2013 sales of Essentials are
more than £1 billion ayear and
Waitrose extends the range to
400 more items.

Nestle re-launches its Willie
Wonka chocolate bar range
in 2013 (sales were poor
when it first launched in
2005); time is no healer
and the whole range is
discontinued in 2014,
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Figure 7.1 Logic chain: making strategic decisions





